				Estimated		1	1						Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimer Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
					SC CC-1	CC / DC / CFS	1							
					SC CC-2		1							
					SC PH									
					ST CC-1									
					ST CC-2									
					ST PH OBC		-							
					OBC CC-1									
					OBC CC-2									
					OBC PH OPEN									
					OPEN CC-1					Estimated	Estimated fund required for			
					OPEN CC-2					working capital requirement for	development of infrastructure at			
1	From Darbhanga Tower to Town Police Thana road	Darbhanga		MS+HSD in Kls	OPEN PH SC	CFS	Frontage 20	Depth 20	Area 400	operation of RO	no O	Draw of Lots / Bidding Draw of Lots	0	3
2	From Maulaganj to Bakarganj Road	Darbhanga	Regular Regular	110	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
3	From Town Police Thana to Marwari college	Darbhanga	Regular	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	campus road Kathalbari, Darbhanga	Darbhanga	Regular	111	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
5	Between Kalyani Chowk to Motijheel chowk	MUZAFFARPUR	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
6	Between Sariayaganj Tower and Muzaffarpur Collectariate	MUZAFFARPUR	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
7	Between Brahmpura Chowk to Juran Chapra in	MUZAFFARPUR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
Q	Muzaffarpur Town Within 2 km from Zero Mile towards Bakhri				sc		35			0	0		0	3
٥	Crossing, Mauza- Bara Jagarnath Within 1 km from Siwaipatti Bazaar towards	MUZAFFARPUR	Regular	210		CFS		35	1225			Draw of Lots		,
9	Seohar on Minapur Seohar Road	MUZAFFARPUR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	Cinema Road,Sitamarhi Town Between Milestone No: 76 & Milestone No: 78 on	Sitamarhi	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
11	Ghutani-Darauli Main Raod	SIWAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	Within 3 km from Rajkriyakrit Madhya Vidyalaya	Saran	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	,Chirand on old NH-19, LHS towards Chapra Within 2 km from Bishop Eastscott school on old		_											
13	NH-19 (Realigned) towards Haiipur	Saran	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
14	Between Rasulpur Chowk and Chapra-Siwan Border on NH-85.	Saran	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
15	Within 9 km to 13 km from Delhi More, Darbhanga	Darbhanga	Dogular	210	sc	CFS	35	45	1575	0	0	Draw of Late	0	3
15	on NH-105 LHS when going Delhi more to Jainagar	Darbhanga	Regular	210	30	Crs	33	45	13/3	U	U	Draw of Lots	U	3
16	Within 3 km from Gangaur high school on NH 104	Madhubani	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
17	Between Jagatpur to Saurath on NH-527A	Madhubani	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
18	Between KM stone 361 and 366 on either side on NH 28	GOPALGANJ	Regular	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
19	Between KM stone 367 and 370 on RHS towards	GOPALGANJ	Regular	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
20	Kuchaikote on NH 28 Between KM stone 416 and 426 on RHS towards	CHAMPARAN - EAST	Regular	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Piprakothi on NH 28 Between KM stone 13 and 17 on LHS towards										_		-	_
21	Chhapwa on NH 28A	CHAMPARAN - EAST	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
22	Within 3 KM and 5 KM from Badheyan More towards Muzaffarpur In RHS on NH 28	GOPALGANJ	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
23	Between Hanuman Mandir, Bela to Chiljhapti on	CHAMPARAN - EAST	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within Municipal limits from Raxaul Town Railway													
24	Gate (Near Indian Oil Depot) towards Laxmipur on NH 28A	CHAMPARAN - EAST	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
25	Within 1 KM from East & West Champaran Border	CHAMPARAN - EAST	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
26	Gate towards Chhapwa on NH-28 B From Zero Mile Chowk towards Bairiya Bus stand	MUZAFFARPUR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 4 km from Milestone No. 02 towards													
27	Darbhanga on RHS on NH 57	MUZAFFARPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots		3
28	From Mile Stone 32 to Mile Stone 36 on LHS towards Muzaffarpur on NH-77	MUZAFFARPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots		3
29	Between KM stone no 47 to 51 on NH-77 Within 4 km of Parsauni more towards Sitamarhi	Sitamarhi	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
30	on NH-104.	Sitamarhi	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
31	Within mile stone no. 59 and 62 on NH 101 on Malmalia - Mohamadpur Road.	GOPALGANJ	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
32	Within 3 Km km stone no 51 on SH -73 towards	Saran	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
33	Masrakh In between km stone no 6 and 8 on SH -96	Saran	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	Between Amnour and Taraiya on Amnour-Taraiya Road (SH 104)	Saran	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	Within 2 km from Bishnapur chowk to Poaria on	Darbhanga	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	SH -50 Within 2 km from Dihlahi Indane Gas Godown	-								0				2
36	towards Poaria on SH -50 Within 3 km from Basaith chowk towards kamtaul	Darbhanga	Regular	100	SC	CFS	35	35	1225		0	Draw of Lots	0	3
37	on Kamtaul-BASAITH ROAD	Madhubani	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
38 39	Dhakjari on SH-52 Pali on SH 52	Madhubani Madhubani	Regular	100 100	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
40	Between Balaha Chowk to KM Stone 30 on LHS	Madhubani CHAMPARAN - EAST	Regular	100	SC	CFS	35	35	1225	0	0		0	3
	towards Jagdishour on SH 54 Between KM Stone 104 & 107 towards		Regular									Draw of Lots		
41	Sangrampur on SH-74	CHAMPARAN - EAST	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	Within 2 KM from Deoria Chowk towards Lalganj on SH74	MUZAFFARPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
43	Between KM Stone 18 and KM Stone 20 on SH86	MUZAFFARPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
44	towards Motipur Within 2 KM from Neem Chowk Towards Kesariya	MUZAFFARPUR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	on SH-74. (Sahebgani By-Pass Road) Within 2 KM from Nawal Kishore Chowk towards		_											_
45	Keshariya on SH74 Within 2 Km Sadbhawna chowk,Nawada towards	MUZAFFARPUR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
46	Giriyak on NH-31	Nalanda	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
47	Within 3 Km Rajgir Mode ,Biharsharif towards Nalanda on NH-82	Nalanda	Regular	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	TROUGHOU OIL IN I UL	•	•		•	•		•	•					

		I		Estimated	1							I	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimer Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be an applicant	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
48	Within 3 Km from Kargil Chowk, Biharsharif towards hospital Chouraha	Nalanda	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
49	Within 3 KMs from Jagdishpur chowk on NH-30 towards Mohania	Bhojpur	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
50	Within 5 KMs from Purana Bhojpur Chowk on NH- 120 towards Maliyabagh	Buxar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
51	Within 3 KMs from Middle school, Itarhai on Itarhi-	Buxar	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
52	Dhansoi-Dinara Road towards Dhansoi Between Km Stone 112 & 115 on NH-139	Aurangabad	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
53	Between Km Stone 155 & 158 on NH-139 (RHS) Within 5 Km from Kochaschowk towards Mohania	Aurangabad	Regular	155	ST	CFS	35	45	1575		0	Draw of Lots	0	3
54	on NH-30 (LHS)	Rohtas	Regular	165	ST	CFS	35	45	1575	_	0	Draw of Lots	0	3
55 56	Sasaram (Within Municipal Limit) Dehri-On-Sone (Within Municipal Limit)	Rohtas Rohtas	Regular Regular	130 130	SC SC	CFS CFS	20	20	400 400		0	Draw of Lots Draw of Lots	0	3
57	Within 2 Kms on either side of Kalyanpur Banjari	Rohtas	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
<i>-</i>	Cement Factory on Delhi-Tilouthu-akbarpur Road	i i i i i i i i i i i i i i i i i i i	neguio.	130	50	C. 5	33		1373		-	5.0W 01 2005		-
58	Within 3 km from chakand bazaar chowk towards belagani	Gaya	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
59	within 3 km from bhusunda more towards manpur	Gaya	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
60	within 3 kms from shiv beni sao college,kaler towards arwal on nh98	arwal	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
61	Masaurahi Town (Within Municipal Limit) Within 3 Km from Chanhariya More towards	Patna	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
62	Modanganj on Chanhariya Modanganj Road.	JEHANABAD	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
63	Within 3 Km From intersection of NH 30 A & Saksohra bind road towards Barh on NH 30A)	Patna	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
64	Between Km Stone 16 and 20 on NH-77 towards Muzaffarpur(LHS)	Vaishali	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
65	From Gardaniya Chowk to Kohnara Ghat Mode within 2 KM from intersection of NH 19.	Vaishali	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
66	Within 7 km from Bihta Chowk towards Maner(On	Patna	Regular	159	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
67	NH-30) Within 5 KMs from Barhampur Chaurasta on NH-	Buxar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
68	84 towards Ara Between km stone 982 to 990 on RHS of NH2,	Aurangabad	Regular	240	sc	CFS	35	45	1575		0	Draw of Lots	0	3
	Going towards kolkata from Aurangabad Between km stone 965 to 975 on LHS of NH2,	,											-	3
69	Going towards kolkata from Aurangabad Within 3 Km from Samas More towards Barbigha	Aurangabad	Regular	240	SC	CFS	35	45	1575		0	Draw of Lots	0	_
70	Mission Chowk on SH 83	Sheikhpura	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
71	Within 5 Km from Ramgarh Chowk towards Sikandra on SH 8	LAKHISARAI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
72	Between Tilkamanjhi chowk and Sarai chowk via Manik Sarkar Chowk in Bhagalpur Town	Bhagalpur	Regular	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
73	Between KM stone 24 & KM stone 27 on Meerganj- Dhamdaha Road on SH65	Purnia	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
74	Between Dargaha Gram Chowk & Rupauli Block Office on SH65	Purnia	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
75	Between Thana Chowk & Purnea Municipal	Purnia	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
76	Corporation Office in Purnea town Within 2 Km from Shankar chowk towrds Purab	Saharsa	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
77	bazaar on NH107 Within 5 Km from Kishanpur Golambar towards	Supaul	Regular	155	sc	CFS	35	45	1575		0	Draw of Lots	0	3
•	Saraigarh on NH327A Within 3 Km from Durga Sthan Chowk, Murliganj	Supaul	ricgulai	133	50	CIS	33		1373	0		Draw or Lots		3
78	on NH107 towards Purnea(within Madhepura district)	Madhepura	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
79	Between Pranpur Gumti to Mahadeopur Chowk	Katihar	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
80	Within 1 km from Rampara chowk towards	Katihar	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
81	Bhamrailly in Katihar town Between Moti chowk & Dey Market on Loharpatti	Kishanganj	Regular	100	ST	CFS	20	20	400		0	Draw of Lots	0	3
	Road in Kishangani town Within 3 KM from Hanuman Mandir Saraiya				sc	CFS	35				0	Draw of Lots		3
82	towards Sonbarsha Ghat on NH 107(LHS) Within 2 KM from Mali Chowk towards Pirnagra	Khagaria	Regular	150	SC	CFS	35	45	1575	0	U	Draw of Lots	0	3
83	on NH 107 (LHS.)	Khagaria	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
84	Between Chainpur to Bhimpur Thana Chowk on SH	Supaul	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
85	91 Within 3 km from Raharia chowk towards	Araria	Regular	155	sc	CFS	35	45	1575		0	Draw of Lots	0	3
	Bhargama on NH 327E Within 2 km from Mithila Public School towards		_	150	SC	CFS					0		0	3
86	Bathnaha on NH-57A	Araria	Regular	130	عد	UF3	35	45	1575	0	U	Draw of Lots	, , , , , , , , , , , , , , , , , , ,	3
87	Within 4 kms from Sultanpur Bus stand towards amarpur (On Amarpur- Bhagalpur Road)	Banka	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
88	Between Varuna Pul and Chaklal Sahi Chowk on	Samastipur	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
89	NH -322 Within 5 Km from Madudabad Bazar Chowk,	Samastipur	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
90	Towards Harpur Boucha on SH - 93 Between Muktapur Gumti and Birsinghpur Chowk	Samastipur	Regular	120	sc	CFS	35	35	1225		0	Draw of Lots	0	3
-	on SH -50 Within 1 KM either side from Chowk near Primary	asupai	. regulat		30	2.3				-			-	_
91	school powai on SH 85 (On Amarpur -Akbarnagar	Banka	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
92	Within 2 KMs from Dalsingsarai Chowk towards Begusarai	Samastipur	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
93	Within 7 KMs from Tajpur Hospital chowk on	Samastipur	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Samastipur-Taipur SH-49 In between Tilkamanjhi chowk and Polytechnic													
94	college main gate on Bhagalpur Barari road	Bhagalpur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
95	In between Mohammmadpur Panchyat Bhavan	Saran	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	and Anand Mathanpura School , Block- Manjhi Within 3 Km from Utkramit Madhya Vidyalaya													
96	Mahamaadour, Block- Darivapur	Saran	Rural	47	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
97	Within 2 Km from Hanuman Mandir,Naya tola towards Hariharnath Mandir, Block-Sonpur	Saran	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
<u> </u>	Within 2 Km from Mahaveer Mandir Bachulia Baba												<u> </u>	
98	Bajrang Chowk, Chitauni towards Isuapur, Block- Banjapur	Saran	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
99	In between Km Stone 1 and 5 on chanchoura-	Saran	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
100	Fakuli Path , Block- Sadar Chhapra Wiothin 1 km from Mahadev more,Dhobal bazaar,	Saran	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
L	Block- BANIYAPUR	l .	·	·	·	ı			·	ı	l		1	

				Estimated monthly Sales				nsion (in M.)/Are	a of the site (in	Finance to be an	ranged by the		Fixed Fee / Minimum Bid	
SI. No	Name of location 2	Revenue District	Type of RO 4	Potential #	Category 6	Type of Site*	Sq. M.). *	8		applicant 9a	9b	Mode of Selection 10	amount 11	Security Deposit 12
101	Within 3 km from Utkramit Madhya Vidyalaya ,Bhuali towards Janta Bazaar, Block- Marhowrah	Saran	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
102	Mauza Leama on Jiwachghat to Leama to Khel Maidan Road (not on NH/SH), Block-Sadar	Darbhanga	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
103	Village Mirzapur, on Rampatti -Babubarhi Road, Block- Rainagar	Madhubani	Rural	60	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
104	Within 2 km from Loma chowk, on Benipatti-	Madhubani	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
105	Saharghat road Block- Madhwapur Within 2 KM from Braham Asthan towards NH105 on Khajauli -Kaluwahi Road (not on NH/SH), Block-	Madhubani	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
106	Kaluahi WITHIN 2 KM FROM NAHAS HIGH SCHOOL on	Madhubani	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
107	Munshi Ayub Marg, Block- Bisfi At Krishnanagar Village in Krishnanagar Panchayat,	CHAMPARAN - EAST	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
108	Block- Madhuban At Chorma village in Chorma panchayat, Block-	CHAMPARAN - EAST	Rural	46	sc	CFS	35	35	1225		0	Draw of Lots	0	2
109	Pakridaval In Pakridayal Nagar Panchayat, Block- Pakridayal	CHAMPARAN - EAST	Rural	46	sc	CFS	35	35	1225		0	Draw of Lots	0	2
110	Karsahiya village in Karsahiya Panchayat, Block-	CHAMPARAN - EAST	Rural	46	sc	CFS	35	35	1225		0	Draw of Lots	0	2
111	Dhaka Barharwa Siwan, Block- Dhaka	CHAMPARAN - EAST	Rural	46	SC	CFS	35	35	1225		0	Draw of Lots	0	2
112	Between Rajkiya Madhya Vidyalaya Balahiya, Anchal Bandra and Bandra Block on Badgon	MUZAFFARPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Chowk to Bandra block road Block-Bandra Within 2 km from Rajkiya Madhya Vidhyalaya,						-			-				
113	MarwaPakar, Mauza- Bishunpur Anant, Block- Saraiya	MUZAFFARPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
114	Mauza Tikauli on Tikauli Bazar to Saidpur Road, Block- Runnisaidpur	Sitamarhi	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
115	Within 5 km from Riga Sugar Mil Chowk towards Sitamarhi on Riga-Sitamarhi-Dheng PWD road., Block- Dumra	Sitamarhi	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
116	Kumma on Kumma -Parwaha-Parihar PWD Road, Block- Parihar	Sitamarhi	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
117	Within 2km from Banaul chowk on either side, Block- Bokhra	Sitamarhi	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
118	Mauza Chandauli on Belsand - Chandauli Road, Block- Belsund	Sitamarhi	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
119	Within 1 KM from Milestone No 14 (=Semara 3 KM) towards Jamunaha on Kateya-Semra Road(Mouza-Rhagwannur). Block- Panchdeori	GOPALGANJ	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
120	Within 2 km from Milestone No 20 (=Pagara 1.7 km) towards Bijaipur on Pagara-Bijaipur Road,	GOPALGANJ	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
121	Rlock- Bijajour Within 1 km from Milestone No: (=Vishunpura 0 km) on Vishunpura-Jalapur Road, Block- Barauli	GOPALGANJ	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
122	Within 2 km from Phulwaria Block Office Main	GOPALGANJ	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
123	Gate towards Pakari . Block- Panchdeori Between Milestone No: 09 and Milestone No: 10 on Pachalakhi-Srinagar Main Raod(Mouza-Adali),	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
124	Block- Siwan Sadar Within 1 km from Panchayat Sachiwalaya Building Done towards Mairawa on Mairawa-Darauli Main	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
125	Road. Block- Darauli Between Milestone No 6 and Milestone 7 on Tarwara Maharjganj Road(Mouza-Mishrauliya),	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
126	Block- Maharaigani Within 1 km from Milestone No(- Maharajganj=14km) towards Maharajganj on Siwan-Maharajganj Main Road, Block- Maharajgani	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
127	Between Milestone No: 58 & Milestone No: 60 on Darauli- Raghunathpur (Not on NH/SH), Block- Darauli	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
128	Between Milestone No: 68 & Milestone No: 70 on Darauli- Raghunathpur (Not on NH/SH), Block- Darauli	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
129	Within 2 Km From Kewai More towards Nalanda (On Kewai more Nalanda Road), Block-Noorsarai	Nalanda	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
130	Within 1 km from Ghinahipatti T-Point on Ghinahipatti-Dilkhilli Road, Block- Durgawati	Kaimur	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
131	Within 4 KM from Bhabhna towards Sakurabad on Babhna- Skurabad Road, Block- Jehanabad	JEHANABAD	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
132	Within 3 KM from Agaion Bazar Chowk towards Barauli on Agaion Bazar -Barauli- Amehta road, Block- Piro	Bhojpur	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
133	Within 5 kms from atri thana more towards lethian. Block-mohra	gaya	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
134	Within 3 km from Barun Thana towards Badem on Barun- Nabinagar Road. , Block- Barun	Aurangabad	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
135	Within 1km on either side of Daudnagar bazar tiraha(Sonhani-Bhagwanpur Road), Block- vaishali	vaishali	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
136	Within 3 KMs from Hanuman Mandir, Narayanpur towards Grahani on Narayanpur-Grahani Road, Block- Agiaon	Bhojpur	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
137	Ankora (Kudra - Bhabhua Road), Block- Kudra	Kaimur	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
138	Within 3 km from Dhanaul Chowk towards Sankat Mochan Mandir on Mankaul Road, Block- Ariyari	Sheikhpura	Rural	50	sc	CFS	35	35	1225		0	Draw of Lots		2
139	Within 1 Km from Shamho Police Station towards Akbarour, Block- Shamho Akha Kurha	Begusarai	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
140	Within 2 KM from Tetri Durga Sthan chauraha towards Sahu Parwatta (on 14 number road.), Block- Naugachia	Bhagalpur	Rural	50	sc	CFS	35	35	1225		0	Draw of Lots	0	2
141	Palsa, Block- Azamnagar Within 6 km from Chhatapur towards Pratapganj	Katihar Supaul	Rural Rural	50	sc sc	CFS CFS	35 35	35 35	1225		0	Draw of Lots Draw of Lots	0	2
143	(on Chhatapur-Pratapganj Road), Block- Chhatapur Within 3 Kms from Amarpur towards Bharko (Amarpur-Katoriya Road), Block- Banka	Banka	Rural	50	SC	CFS	35	35	1225		0	Draw of Lots		2
144	Within 2 Kms from Raja Rani Talab towards tarapur (On Tarapur - Kharagpur Road), Block-	Munger	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Tarapur	l .	l	1	·	1		<u> </u>				l	1	

				F-0						1		1		1
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be an applicant	ranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	oq. m.).	8		9a	9b	10	11	12
145	Within 2 KM from Maido Chowk, Towards Garhpura (on Sakhwaghat - Bakhri Road), Block-	Samastipur	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Bithan Between Imli Chowk to Singhia Chowk (on Imli													
146	Chowk - Singhia Road), Block- Samastipur	Samastipur	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
147	Between Saraiya Pool and Sarairanjan Bajar Chowk (on Saraiya - Sarairanjan road), Block- Sarairanjan	Samastipur	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
148	Matha(Mauza-Haransari), Block- Salkhua	Saharsa	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
149	In Alauli Bakhari route at Haripur, Block- Allouli	Khagaria	Rural	50	sc	CFS	35	35	1225		0	Draw of Lots	0	2
150	In Alauli- Bachota route at Bhachauta , Block-	Khagaria	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
151	Khagari Kundal , Block- Singhia	Samastipur	Rural	50	sc	CFS	35	35	1225		0	Draw of Lots	0	2
152	Jamdaha (Dam road, Bounsi), Block- Katoriya	Banka	Rural	50	SC	CFS	35	35	1225		0	Draw of Lots	0	2
153	Within 2Km from Chandramdih Police Station on Basukitad-Simultala road, Block-Chakai	Jamui	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
154	Bansi Purandaha, Block- Dhamdaha	Purnia	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
155 156	Gowasi , Block- Krityanand Nagar Kunauli, Block- Nirmali	Purnia Supaul	Rural Rural	50	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
157	Between Kari Koshi Bridge & Balu Ghat Bridge on Semapur- Katihar Road, Block- Barari	Katihar	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
158	In Alauli shaharbani root at Meghona, Block-	Khagaria	Rural	50	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Allouli Between Sardarganj Chowk (On NH 28) and	_												
159	Barhanda Chowk (On Dalsingsarai - Barhanda Road), Block- Dalsingsarai	Samastipur	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
160	Between Satanpur Chowk and Jhakhra Chowk (On Jhakhra - Satanpur Roado, Block- Uijarpur	Samastipur	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
161	Bhatha on NH-104	Sitamarhi	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
162	Pupri Between Milestone No: 09 and Milestone: 11 on	Sitamarhi	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
163	SH-47	SIWAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
164	Within 2 km from Milestone No: (=Afrad More 8 km) towards Afrad More on SH-96	SIWAN	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
165	Within 1 km from Milestone Number (16) towards Samour on Mirgani-Samour Road	SIWAN	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
166	Within Municial Limit of Bettia Town	CHAMPARAN - WEST	Regular	136	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
167	Within Municipal Limit of Narkatiyaganj Town	CHAMPARAN - WEST	Regular	137	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
168	Within 1 KM from SSB camp Narkatiyaganj towards Narkatiyaganj on Betia -Narkatiyaganj	CHAMPARAN - WEST	Regular	145	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Road. Within Muniicipal limit of Bagha Town.	CHAMPARAN - WEST		113	·	DC	20	20	400	25	45		15	5
170	Mauza Gunaha (Sonbarsa) on India Nepal Border	CHAMPARAN - WEST	Regular Regular	100	Open OBC	DC	35	35	1225	25	45	Draw of Lots Draw of Lots	15	4
171	Road Balha Maksudan on SH-87	Sitamarhi	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
172	Jogapatty (on Manuapul-Jogapatty-Nawalpur	CHAMPARAN - WEST	Regular	100	SC	CFS	20	20	400		0	Draw of Lots	0	3
173	Road) Nautan (on Nautan Machhargawa Road)	CHAMPARAN - WEST	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
174	Within 4 Km from Sathi Police Station towards	CHAMPARAN - WEST	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
1/4	Narkatiyaganj on Bettiah Narkatiyaganj MDR	CHAINTAIN WEST	ricgulai	100	Open cc 1	БС	33	33	1223	23		Draw or Lots	13	3
175	Within 2 km from Azad chowk, Sitamarhi towards Pupri on SH 52	Sitamarhi	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
176	Bairiya (on Bairiya Bettiah Road) Between Baishakhwa Chowk and Ghogha Chowk	CHAMPARAN - WEST	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
177	on Bettiah Mainatand Road	CHAMPARAN - WEST	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
178	Mainatand (on Balthar Mainatand Road) Within Bettiah Municipalty Limit Excluding NH-28B	CHAMPARAN - WEST	Regular	100	Open	DC	20	20	400		45	Draw of Lots		5
179	Part Within Municipal limit of Marhowrah town	CHAMPARAN - WEST Saran	Regular Regular	100	Open SC	DC CFS	20	20	400	25	45 0	Draw of Lots Draw of Lots	15	5
181	Within Municipal limit of Marnowian town Within Municipal Limit of Sonepur Town.	Saran	Regular	100	OBC	DC	20	20	400		45	Draw of Lots	15	4
182	Within Municipal Limit of Chapra Town. Between Sonho Chowk and Amnour Chowk on SH-	Saran	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
183	73 (including Amnour bypass Road).	Saran	Regular	100		DC	35	35	1225		60	Draw of Lots		5
184	From Darbhanga Tower to Mirzapur Chowk Within 3 km from Chandauna College Chowk on	Darbhanga	Regular	105	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
185	M.K.S College Trimuhan Chandauna to	Darbhanga	Regular	113	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
186	Ghogharaha Chowk road. SH52 Within 6 km from Shobhan Chowk in Shobhan to	Darbhanga	Regular	110	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Ekmi-bypass Within 3 km from Sighwara Bridge towards	Darbhanga		100	Open	DC	35	35	1225		45	Draw of Lots		5
10/	Bithauli Chowk on Atarbel Jale Road Within Municipal Limit of Madhubani Town	Madhubani	Regular Regular	170	Open	DC	20	20	400	25	45	Draw of Lots Draw of Lots		4
189	Between Janpul chowk and Daroga Tola More,	CHAMPARAN - EAST	Regular	160	SC	CFS	20	20	400		0	Draw of Lots		3
190	Motihari Within 4 KM from Balua Chowk on Balua Areraj	CHAMPARAN - EAST		110		DC	20	20	400		45	Draw of Lots		5
190	Road Within municiplity Limit of Motihari town	CHAMPARAN - EAST	Regular Regular	170	Open Open	DC	20	20	400	25	45	Draw of Lots Draw of Lots	15	5
	Motihari Town (From Town Thana: to Chhatauni													
192	Chawk Via: Gandhi Chowk on Town Thana: to Chhatauni Chowk road)	CHAMPARAN - EAST	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
193	Within 2 KM from Awadesh Chouk towads Motihari Station.	CHAMPARAN - EAST	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
194	Motihari Town (Within 1 KM from Kachahari	CHAMPARAN - EAST	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
105	Chowk towards Balua Golambar on LHS) From Main Gate of Raj Narayan Singh College								400	0.5				
195	Balughat towards Akharaghat Road on Lakaridhahi(Chandwara)-Akharaghat Road	MUZAFFARPUR	Regular	200	Open	CC	20	20	400	25	10	Bidding	30	5
196	Between Hathi Chowk towards Imli Chowk	MUZAFFARPUR	Regular	200	OBC	СС	20	20	400		10	Bidding		4
197	Between Akharaghat Bridge and Zero Mile Chowk	MUZAFFARPUR	Regular	200	Open CC 1	CC	35	35	1225	25	10	Bidding	30	5
198	Within 1 KM from Brahampura Chowk towards Deoria on Deoria Muzaffarpur Road	MUZAFFARPUR	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
199	Within 3 KM from Zila School Main Gate towards Mithanpura chowk	MUZAFFARPUR	Regular	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
200	Within 2 KM from Dadar Bridge towards Bairiya	MUZAFFARPUR	Regular	200	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
200			•	Ī			l	l	 	 		 	 	_
200	Golambar on RHS Within 1.5 km from Rajkiya Prathmik Vidyalaya		Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
200	Golambar on RHS	SIWAN MUZAFFARPUR	Regular Regular	100 100	Open OBC	DC DC	20	20	400 400	25 25	45 45	Draw of Lots Draw of Lots	15 15	5
201	Golambar on RHS Within 1.5 km from Rajkiya Prathmik Vidyalaya Tandwa towards Mirgani Between Chhata Chowk to Maripur Chowk Between Kachchi Pakki Chowk and RDS College	SIWAN	Regular Regular Regular							25		Draw of Lots Draw of Lots Draw of Lots	15	
201	Golambar on RHS Within 1.5 km from Rajkiya Prathmik Vidyalaya Tandwa towards Mircani Between Chhata Chowk to Maripur Chowk	SIWAN MUZAFFARPUR	Regular	100	OBC	DC	20	20	400	25 0	45	Draw of Lots	15	4

				Estimated monthly Sales			Minimum Dime	nsion (in M.)/Area	a of the site (in	Finance to be a	rranged by the		Fixed Fee / Minimum Bid	
SI. No	Name of location 2	Revenue District	Type of RO 4	Potential #	Category 6	Type of Site*	Sq. M.). *	8		applicant 9a	9b	Mode of Selection 10	amount 11	Security Deposit
205	Between Brahmpura Chowk to Bibiganj in Muzaffarour City	MUZAFFARPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
206	Between Mithanpura Chowk and Sadpura Railway Crossing towards Neem Chowk in Muzaffarpur City	MUZAFFARPUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
207	Within 2 km from Banaras Bank Chowk towards Balughat	MUZAFFARPUR	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
208	From Aghoria Bazaar Chowk towards Kalambagh Chowk	MUZAFFARPUR	Regular	140	Open	DC	20	20	400	25	45	Draw of Lots	15	5
209	From Kalambagh Chowk towards Chandralok Chowk	MUZAFFARPUR	Regular	140	Open	DC	20	20	400	25	45	Draw of Lots	15	5
210 211	From Kalambagh Chowk towards Lenin Chowk	MUZAFFARPUR MUZAFFARPUR	Regular	140 140	OBC PH SC PH	DC CFS	20 20	20	400 400	25 0	45 0	Draw of Lots Draw of Lots	15	4
	From Lenin Chowk towards Maripur Chowk From Zero Mile Chowk towards Sri Krishna		Regular							_	_		U	3
212	Medical College and Hospital on Muzaffarpur Sitamarhi Road Within 2 km from Baghaiya Pull (on Tirhut Main	MUZAFFARPUR	Regular	110	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
213	Nehar) towards Panapur OP on Marhwan to Kanti Road Muzaffarpur Town (from Haathi Chowk towads	MUZAFFARPUR	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
214	Kalvani Chowk)	MUZAFFARPUR	Regular	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
215	Within 2 km from Mithanpura Chowk towards Bela - Income Tax Office	MUZAFFARPUR	Regular	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
216	In between P&T Chowk to Leprosy Mission Chowk, Muzaffarour	MUZAFFARPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
217	Muzaffarpur Town (Between Aghoria Chowk and Chhatta Chowk)	MUZAFFARPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
218	Muzaffarpur Town (Between Hati Chowk and Banaras Bank Chowk)	MUZAFFARPUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
219	Within 2 KM from Masjid Chowk towards Bela	MUZAFFARPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
220	Between Harisabha Chowk and Ramana Post Office in Muzaffarour City	MUZAFFARPUR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
221	Gola Road in Muzaffarpur Town	MUZAFFARPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
222	Muzaffarpur Town (Between RDS College to Aghauria Bazar Chowk)	MUZAFFARPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
223	Muzaffarpur Town (Between Aghoria Chowk and Purani Bazar Chowk)	MUZAFFARPUR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
224	Muzaffarpur Town (Between Pani Tanki Chowk to Mithanpura Chowk)	MUZAFFARPUR	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
225	Narkatiyaganj Town(Between Sugar Mill Turning And Railway Crossing Towards Thori)	CHAMPARAN - WEST	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
226	Murgia Chak (Sitamarhi) within Municipal limit of	Sitamarhi	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
227	Sitamarhi Talkhapur Dumra(On Badi Bazar to Goshala Road)	Sitamarhi	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
228	Sitamarhi(Between Nahar Chowk to Shankar chowk)	Sitamarhi	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
229	Within 2 km from Bishwanathpur chowk,Sitamarhi in LHS towards Bhadiyan on Vishwanathpur Chowk-Bhadiyan Road.	Sitamarhi	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	Between Milestone No: 2 & Milestone No: 3 on Mirgani-Samour Road	GOPALGANJ	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
231	in LHS from Hospital Chowk towards Arar More in Gopalganj Town (Within Municiple Limit)	GOPALGANJ	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
232	Between Milestone No 24 & Milestone No: 26 on Mirgani-Bhore Road	GOPALGANJ	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
233	Within 2 km from Milestone No. (SH 47= 1 KM) towards Andar Dhala Flyover Siwan(on Bye-Pass	SIWAN	Regular	100	OBC CC 1	DC	35	35	1225	25	45	Draw of Lots	15	4
234	Road) Within 2 Km from Laddhi Bazar(from Laddhi -Chari T-Point) on SH 96	SIWAN	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
235	Within 3 km from Pranjal Indane LPG Showroom	SIWAN	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
236	towards Siwan on NH-85 Within 2 km from Banaras Bank Chowk towards	MUZAFFARPUR	Regular	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
237	Pakki Sarai Between Babunia More and Tarwara More towards Tarwara More in Left Hand Side (Within	SIWAN	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots		5
238	Municipal Limit) (Within Municipal Area) From Sudarshan Chowk towards Pachalakhi on Sudarshan Chowk-	SIWAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Pachalakhi Road Within 1 km from Mahaviri Saraswati Shishu Vidya													
239	Mandir, Madhav Nagar towards Bindusar Road Within 2 km from Jigna Railway Crossing On New	SIWAN	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots		5
240	Mirgani Bve-Pass Road(on NH-85) Within 1 KM from milestone 13 KM Chapwa/12	GOPALGANJ	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
241	KM Bettiah towards Chapwa on Bettiah-Chapwa NH 28B Road Within 1 KM from milestone 18 KM Chapwa/7 KM	CHAMPARAN - WEST	Regular	189	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
242	Bettiah towards Chapwa on Bettiah-Chapwa NH 28B Road	CHAMPARAN - WEST	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
243	Between Milestone (Bagha-6Km) To (Bagha-3Km) towards Bagaha on Lauriya Bagaha Road,NH28B.	CHAMPARAN - WEST	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
244	Within 5 Km from Chhawni Chowk towards Lauriya on NH 28B	CHAMPARAN - WEST	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
245	Between Nannosati Chowk and Dubauliya Chowk on NH-28B	CHAMPARAN - WEST	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
246	From Dumri Bujjurg to Sheetalpur mauza on old NH-19 (realigned) (including both mauzas), LHS towards Chapra	Saran	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
247	Within 3 Km from Samudayik Swastha Kendra Revealgani on old NH-19 towards Taipur	Saran	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
248	Within 3 KM fom Lalu Yadav Chowk on old NH-19 (Realigned) LHS towards Chhapra	Saran	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
249	Within 6 km from PNB bank Baniyapur on old NH 101 towards Malmaliva	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
250	Within 3 km from Bishop Eastscott school on old	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
251	NH-19 RHS towards fakuli Within 2 KM from KM Stone no. 69 on NH-722	Saran	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	towards Muzaffarpur (old NH-102) Within 5 KM from Jalalpur Chowk on old NH-101	Saran	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots		3
253	towards Chapra Within 2 km from Km stone no 63 on NH-722 (old	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	NH-102) Within 3 km from Bishop Eastscott school on old		-											
254	NH-19 LHS towards fakuli	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

19. 1 19. 19. 19. 19. 19. 19. 19. 19. 19			<u> </u>		I=			1					1	/	
The content of the	SI. No	Name of location	Revenue District	Type of RO		Category	Type of Site*		nsion (in M.)/Are	a of the site (in		rranged by the	Mode of Selection		Security Deposit
March Marc		2						Oq. m./.	8			9b	1		
1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 1965 196	255		Saran	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
2006 100	256		Saran	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1982 1982	257	Within 4 Km from Rajkiya Madhya Vidyalaya	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1982 1982	258	Within 3 km from Rajkiyakrit Madhya Vidyalaya	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
200 100	259	NH-19 (realigned) (including both mauzas), RHS	Saran	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
March Marc	260	Within 3 Km from Km Stone no 43 towards	Saran	Regular	150	SC	CES	35	45	1575	0	0	Draw of Lots	0	3
Section Process Proc				-									1		
March Process Proces															
March Marc		towards Ekma on old NH-85 .		Regular		OBC									
Section Sect	263	Hajipur on old NH-19 LHS towards Hajipur	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Process Proc	264	More and Naya Gaon- Rail Wheel Factory Road (RHS While going from Dudhaila Mor towards Rail	Saran	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Process Proc	265	On Re-aligned old NH-19 Road Between Dudhaila More and Naya Gaon- Rail Wheel Factory Road	Saran	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
Page	266	Dhala railway crossing) on old NH-85 RHS	Saran	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
Page	267	Between KM stone 42 and KM stone 46, RHS while	Darbhanga	Regular	168	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Page	268	Between KM stone 89 and KM stone 94, RHS while	Darbhanga	Regular	210	Open	СС	35	45	1575	25	10	Bidding	30	5
Company Comp	269	Between 4 km to 7 km from Shankar-Rohar Chowk	Darbhanga	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
State Michael and Michael	270	Between KM stone 95 and KM stone 100, LHS while going from Darbhanga towards Purnea on	Darbhanga	Regular	249	OBC	сс	35	45	1575	25	10	Bidding	30	4
And Substitution Services (Services Services Ser	271	Mehsaul on SH-87	Sitamarhi	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Process Proc	272		Darbhanga	Regular	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
Ambit Control Contro	273		Darbhanga	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Part	274	while going from Darbhanga towards Jhanjharpur	Darbhanga	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Number Section Feed Proceedings Processor	275	Between KM stone 100 and KM stone 105, RHS while going from Darbhanga towards Purnea on	Madhubani	Regular	250	Open	сс	35	45	1575	25	10	Bidding	30	5
Processor Proc	276	Within 3 km from DV college jaynagar -ON NH105	Madhubani	Regular	210	Open	сс	35	45	1575	25	10	Bidding	30	5
And the property of the proper	277		Madhubani	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Within 3 Kin from Pipraian Middle school on Net- Machlubani Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5	278		Madhubani	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
154_LIS while earlier towards Sahar Control Contro	279	Within 3 Km from Pipraun Middle school on NH-	Madhubani	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Substance as Exercises Development of Substance Development Development of Substance Development of Substance Develop	280		Madhuhani		150		DC	35	45	1575	25	75	Draw of Lots	15	5
Crossina Madhubani en NH 197A Septian S															
Section Parthamage to Purprese Parthamage to Parthamage to Purprese Parthamage to Purprese Parthamage to Parthamage to Parthamage to Parthamage to Parthamage to Parthamage				-									-		-
AND ANTIOLIS etween KM stone 128 £137,RHS while going no Darkhanas to Purnes ANTIOLIS etween KM stone 128 £137,RHS while going no Darkhanas to Purnes ANTIOLIS who from Payabil chowk towards Harishin on NH Harishin and Harishin on NH Harishin on		on Darbhanga to Purnea													5
	283	on Darbhanga to Purnea	Madhubani	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
288 Mithin S km from Darbhanga towards Prome on NH 57 289 Berhwen FM Stone 99, RHS white going from Darbhanga fowards Namhya on NH 57 289 Within 3 km from Regular 150 290 Within 4 km from Barali thowk, Towards Sameya Mithin 4 km from Barali thowk, Towards Sameya Madhubani Regular 250 260 DBC 27 27 280 Berhwen FM Stone 99, RHS white going from Darbhanga fowards Prome on NH 57 280 Berhwen FM Stone 99, RHS white going from Darbhanga towards Prome on NH 57 280 Barhmur on NH 57, JHS from going to Darbhanga Madhubani Regular 250 260 DBC 27 27 280 Mithin 4 km from Barali thowk, Towards Sameya Madhubani Regular 250 260 DBC 27 27 281 Darbhanga towards Prome on NH 57 282 283 Darbhanga towards Prome Dispatti Middle School Lowards Darbhanga on NH LOSI. Regular 284 Berwen Mistone en 15 to 129 on RHS white going from Darbhanga towards Narahiya on NH 104 285 Darbhanga towards Narahiya on NH 27 289 Mithin 4 km from Barali thowk towards Ladania on NH LOB Regular 286 Berwen Mistone en 15 to 129 on RHS towards Gonalaci no NH 28 287 Berwen RM Stone 93 and 383 on either side on NH 104 288 Berwen RM Stone 93 and 383 on either side on NH 104 289 Berwen RM Stone 93 and 383 on either side on NH 104 280 Berwen RM Stone 93 and 380 on RHS towards Gonalaci no NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 128 280 Berwen RM Stone 93 and 400 on either side on NH 128 280 Berwen RM Stone 93 and 400 on either side on NH 128 280 Berwen RM Stone 93 and 400 on either side on NH 128 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side on NH 28 280 Berwen RM Stone 93 and 400 on either side Stone 93 and 400 on either si	284	going on Darbhanga to Purnea	Madhubani	Regular	210	Open CC 2	cc	35	45	1575	25	10	Bidding	30	5
Machubani Regular 150 Open DC 35 45 1575 D Draw of Lots D Draw of	285	on NH-104	Madhubani	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
Between KM stone 95 and KM stone 99, RHS while going from Darbhanga towards Purnes on NH 57 Nadhubani Regular 250 OBC CC 35 45 1575 25 10 Bidding 30 4 Single properties of the properties of th	286	104	Madhubani	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Between KM stone 95 and KM stone 99, RHS while going from Darbhanga towards Purnea on NH 57 Madhubani Regular 160 Open DC 35 45 1575 25 75 Draw of Lots 15 5	287		Madhubani	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
Dullpatt Modubani Negular 160 Open DC 35 45 1575 25 75 Draw of Lots 15 5	288	Between KM stone 95 and KM stone 99, RHS while	Madhubani	Regular	250	OBC	сс	35	45	1575	25	10	Bidding	30	4
10 ournea 10 o	289	Brahmpur on NH-57,LHS from going to Darbhanga	Madhubani	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
On NH-527A Setween KM stone 383 and 383 on either side on NH 150 Setween KM stone 383 and 383 on either side on NH 28 Sedween KM stone 383 and 385 on LHS towards Gopalgani on NH 28 Sedween KM stone 383 and 380 on RHS towards on NH 28 Sedween KM stone 383 and 380 on LHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towards on NH 28 Sedween KM stone 483 and 480 on SHS towa		Within 4 km from Barail thowk,Towards Sameya				-									5
School towards Dabhanga on NH 105															
S7 Within 2 km from Tenuahi chowk towards Ladania Anathubani Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5 S Open Open DC 35 A5 Open Ope	292	Between Milestone no. 125 to 129 on R.H.S while													
Between KM stone 371 and 375 on RHS towards GOPALGANJ Regular 200 Open DC 35 45 1575 25 75 Draw of Lots 15 5 5	293	57. Within 2 km from Tenuahi chowk towards Ladania				Open					25	75		15	5
Spondard on NH 28 Setween KM stone 375 and 380 on RHS towards GOPALGANJ Regular 200 OBC DC 35 45 1575 25 75 Draw of Lots 15 4	294	Between KM stone 371 and 375 on RHS towards	GOPALGANJ	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
GODAIGAN Comparison Compa	295	Between KM stone 375 and 380 on RHS towards	GOPALGANJ	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
NH 28		Between KM stone 380 and 383 on either side on		-											
Gopalgani on NH 28 Between KM stone 394 and 397 on RHS towards GopALGANJ Regular 200 Open CC 1 DC 35 45 1575 25 75 Draw of Lots 15 5															
Piper Action on NH 28 Substitution of NH 28 Subs		Gopalgani on NH 28											-		-
1972 1973 1974 1975 1974 1974 1975 1974 1975 1974 1975 1974 1975 1974 1974 1974 1975 1974 1974 1975 1974		Piprakothi on NH 28													
1979 1979	299	towards Piprakothi on NH 28	GOPALGANJ	Regular	200	OBC	DC		45	1575		75	Draw of Lots	15	4
100 100	300	towards Piprakothi on NH 28	GOPALGANJ	Regular	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
Between KM stone 432 and 440 on LHS towards CHAMPARAN - EAST Regular 200 Open DC 35 45 1575 25 75 Draw of Lots 15 5 Page 14 CHAMPARAN - EAST Regular 200 Open DC 35 45 1575 25 75 Draw of Lots 15 5 Draw of Lots 15 Draw of	301	towards Piprakothi on NH 28	GOPALGANJ	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
303 Between KM stone 445 and 450 on RHS towards CHAMPARAN - FAST Regular 200 ORC DC 35 45 1575 25 75 Draw of Lots 15 4	302		CHAMPARAN - EAST	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	303		CHAMPARAN - EAST	Regular	200	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be a applicant		Mode of Selection	Minimum Bid amount	Security Deposit
1	2 Between KM stone 464 and 468 on LHS towards	3 CHAMPARAN - EAST	4 Dogular	200	6	7 DC	35	8 45	1575	9a 25	9b 75	10	11	12
304	Muzaffarour on NH 28 Between KM stone 469 and 473 on LHS towards	CHAMPARAN - EAST	Regular		Open SC	CFS	35			0	0	Draw of Lots		3
303	Muzaffarour on NH 28 Between KM stone 473 and 480 on LHS towards		Regular	200				45	1575			Draw of Lots		
306	Muzaffarpur on NH 28 Between KM stone 481 and 482 on Either Side	CHAMPARAN - EAST	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots		5
307	towards Muzaffarpur on NH 28 Between KM stone 8 and 10 on RHS towards	CHAMPARAN - EAST	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
308	Chhapwa on NH 28A Between KM stone 10 and 13 on LHS towards	CHAMPARAN - EAST	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
309	Chhapwa on NH 28A Between KM stone 17 and 21 on RHS towards	CHAMPARAN - EAST	Regular	200	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
310	Chhapwa on NH 28A Between KM stone 60 and 65 on either side	CHAMPARAN - EAST	Regular	200	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
311	towards Mohammadpur on NH 101 Within 4 KM from Basdila Bherihari more on LHS	GOPALGANJ	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
312	towards Muzaffarour on NH-28 Between milestone 450 and 452 on NH 28 on LHS	GOPALGANJ	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
313	towards Gopalgani Within 2 KM from Banjhula on NH 227 towards	CHAMPARAN - EAST	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
314	Chorma	CHAMPARAN - EAST	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
315	Between Janta Chowk and Chiljhapti on NH 527D (earlier NH 28A)	CHAMPARAN - EAST	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
316	WITHIN 2.5 KM FROM KRISHNA NAGAR CHOWK IN NH 104 towards Sheohar	CHAMPARAN - EAST	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
317	Between KM Stone number 02 and KM Stone number 04 towards Darbhanga on NH 57	MUZAFFARPUR	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
318	Between Chhata Chowk to Maripur Chowk Within 4 km from Milestone No. 10 towards	MUZAFFARPUR MUZAFFARPUR	Regular Regular	150	SC Open	CFS DC	35	20 45	400 1575	25	0 75	Draw of Lots Draw of Lots	15	5
320	Darbhanga on RHS on NH 57 Within 4 km from Milestone No. 15 towards	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
321	Darbhanga on RHS on NH 57 Between KM stone 3 and 5 on NH 722 (old NH	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
322	102) towards Chapra Within 4 KM from KM Stone No 32 towards	MUZAFFARPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Muzaffarpur on LHS on NH 77 Within 4 km from Milestone No. 20 towards	MUZAFFARPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots		3
	Darbhanga on RHS on NH 57 Within 4 KM from Milestone No. 42 towards	MUZAFFARPUR	-	150		DC	35	45	1575	25	75	Draw of Lots		5
324	Darbhanga on LHS on NH 57 Within 4 KM from KM Stone No 32 towards	MUZAFFARPUR	Regular Regular	150	OBC 1	DC	35	45	1575	25	75	Draw of Lots Draw of Lots	15	4
	Hazipur on LHS on NH 77 Between KM stone no. 1 to 3 on NH 722 (old NH	MUZAFFARPUR	-	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
320	102) towards Chapra Benibad Chowk to Baruari Chowk towards		Regular							0	0			3
327	Muzaffarpur in LHS on NH-57 Within 4 KM from Milestone No. 34 towards	MUZAFFARPUR	Regular	150	SC	CFS	35	45	1575			Draw of Lots	0	
328	Darbhanga on LHS on NH 57 Within 4 KM from KM Stone No. 07 towards	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
329	Darbhanga on RHS on NH 57 Within 4 km from Milestone No. 23 towards	MUZAFFARPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	-
330	Muzaffarour on LHS on NH 722 (old NH 102) Between Kurhni and Rajla On RHS Of NH-77 (on	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
331	wav from Muzaffarpur to Hazipur)	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
332	Between Milestone No 33 to 37 in RHS of NH-57 Within 3 km from Bakhari Crossing on LHS on NH-	MUZAFFARPUR	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
333	57 towards Darbhanga Within 4 KM from KM stone no. 32 towards	MUZAFFARPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
334	Chapra on NH 722 (old NH 102) Between Milestone No. 1 to Milestone No. 4	MUZAFFARPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots		5
335	towards Darbhanga in LHS on NH-57. Within 1.5 KM from Sheohar Zero Mile towards	MUZAFFARPUR	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
336	Muzaffarpur on PWD Road Between KM Stone no 77 to 79 on NH 77	Sheohar Sitamarhi	Regular Regular	100 150	SC OBC	CFS DC	35 35	35 45	1225 1575	0 25	0 75	Draw of Lots Draw of Lots	0 15	4
338	Adalpur on NH-104	Sitamarhi	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
339	Mauza Awapur on SH-52 Between Laxmipur Dhala(Andar Dhala) and	Sitamarhi	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
340	Dayanand Ayurvedic college within Municipal Limit	SIWAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
341	New Bye-Pass of Gopalganj Town on NH- 85(Excluding Municiple Area)	GOPALGANJ	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
342	Between Babunia More and Tarwara More towards Tarwara More in Right Hand Side (Within	SIWAN	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
343	Municipal Limit) Within 2 km from Rajkiyakrit Madhya Vidyalaya	SIWAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Gamahria towards Siwan on NH-85 Within 4 to 6 km from Uttakramit Madhya													
344	Vidyalaya Vaishakhi towards Gopalganj on New Bve-Pass (NH-85)	SIWAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
345	Within 3 km from Tarwara More towards Pacharukhi on NH-85	SIWAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
346	Within 2 km from Uttakramit Madhya Vidyalaya Vaishakhi on either side on New Bye-Pass (NH-85)	SIWAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
347	Within 3 km from Barhariya Thana: towards	SIWAN	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
348	Siwan on SH-47 Between Mile stone 84and 88, RHS while going on	Madhubani	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
349	Darbhanga to Purnea Between Mile stone 94 and 100, RHS while going	Madhubani	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	from Darbhanga to Purnea Within 2 Km from Jagdishpur Chowk towards	CHAMPARAN - WEST	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Arrerai on SH-54 In between Utkramit Madhya Vidyalaya,Achitpur		_											
351	and Kendriya Vidyalay,Masrakh on SH-90	Saran	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
352	Within 4 Km from KM stone no 56 on SH-73 towards Masrakh	Saran	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
333	Within 6 km from Dariyapur thana on SH-73 towards Parsa	Saran	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
354	Withn 3 km from Rajkiya Buniadi Vidyalaya ,Bansoi on SH-73	Saran	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
355	Within 2 km from Shiv Mandir, Raghuni Tola on SH-104 towards bheldi	Saran	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
356	Within 2 km from Shiv mandir ,Bichgli badhar ON SH-90	Saran	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
357	Within 2 km from Utkramit Madhya Vidyalay Piparhiyan on SH-90	Saran	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
358	Within 4 km from Sonho chowk on SH-73 towards Parsa	Saran	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3

Section Sect	
200 Wilsta Sam From Service and Control (1972) Service Ser	Security Depos
March Marc	4
Page	5
22 Wilst 1 Strin Construction Strate (1) Strate (1) Strate (1) Strin Construction Strate (1)	5
March Marc	
Months 200 from through Septime 150	4
March Marc	3
Section Sect	5
Within 1 Out to 1 SM For Minimal Control Without Control Con	5
Section Compared State Information Section Compared State Information Compared State Informat	4
Second Conference International Conference Second Conference	3
Section Proceed Continue of the Process Continue of the Proces	5
Sammout on 31-75 Sammout on 32-75 Sammout on	5
Section Process Proc	4
Check on Gandold Start Bload CSE-XT Check Start Bload CSE-XT C	5
	3
15 15 15 15 15 15 15 15	4
Section Sect	5
Samika	5
Madhubani on SH-52 100 Markor total 15 15 16 16 16 15 15 16 16	3
Regular 100 Open DC 35 35 1225 25 60 Oraw of Lots 15	4
Might Skm From Pitambar Choak, Keshariya ChaMPARAN - EAST Regular 100 Open DC 35 35 1225 C O Draw of Lots 15	5
Within 2 km from Pitambar Choak, Keshariya CHAMPARAN - EAST Regular 100 SC CFS 35 35 1225 0 0 0 Draw of Lots 0	5
	3
383 Within mile stone no 4 to 7 on SH-96 GOPALGANJ Regular 100 Open CC 2 OC 35 35 1225 25 60 Draw of Lots 15	4
Belsan Baluatola on Ktowards Areraj on CHAMPARAN - EAST Regular 100 SC CC 1 CFS 35 35 1225 25 60 Draw of Lots 0	5
385 Within 3 KM from Balua Chowk towards Areraj on SH-54	4
Within 1 KM from KM Stone 110 (Vaishali 75 KM, Khajuria 7 KM) towards Salaha mod on SH 74	3
Within 3 KM from Lauriya towards Balaha mod on SH 54 Sh 54	5
Same	5
Within 3 KM from Jaintpur Chowk towards Saraiya on SH86 Between Milestone No 72 to 75 in LHS on SH-74 MUZAFFARPUR Regular 100 Open DC 35 35 1225 25 60 Draw of Lots 0 Draw of Lots 15 Draw of Lo	4
Setween Milestone No 72 to 75 in LHS on SH-74 towards Sahebgani Setween Milestone No 72 to 75 in LHS on SH-74 towards Sahebgani Setween KM Stone number 499 and KM Stone number 502 towards Muzaffarpur on LHS on NH MUZAFFARPUR Regular 200 Open DC 35 45 1575 25 75 Draw of Lots 15 Setween KM Stone no. 41 to 45 towards Deoria on SH-74 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 100 OBC DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 25 60 Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards MUZAFFARPUR Regular 150 Open DC 35 35 1225 0 O Draw of Lots 15 Setween KM Stone No. 1 to 3 on SH 86 towards Pupri On SH-52 Setween KM Stone No. 1 to 3 on SH 86 towards Pupri On SH-52 Setween KM Stone No. 1 to 3 on SH 86 towards Pupri Open DC 35 35 1225 25 60 Draw of Lots 15 Open Open Open DC 35 35 1225 25 60 Draw of Lots 15 Open	3
Setween KM Stone number 499 and KM Stone number 502 towards Muzaffarpur on LHS on NH 2R 200 Open DC 35 45 1575 25 75 Draw of Lots 15 28 28 28 29 29 20 20 20 20 20 20	5
28 28 28 29 29 20 20 20 20 20 20	5
SH 74 SH 75 SH 76 SH 7	4
Motiour Motiour Motiour Motiour	5
RHS towards Motipur on SH-86	3
396 With 3 km from Ghograha Chowk towards Pupri on SH-52 Sitamarhi Regular 100 OBC DC 35 35 1225 25 60 Draw of Lots 15	5
397 Within 2 KM to 5 KM from Delhi More, Darbhanga Darbhanga	4
398 Ramnagar,Within Municipalty Limit CHAMPARAN - WEST Regular 100 SC CFS 20 20 400 0 D Draw of Lots 0 399 Within 3 km from Sursand Chowk on Sursand - Puori Road SH 87 Sitamarhi Regular 100 OBC DC 35 35 1225 25 60 Draw of Lots 15 400 Within 3 km from Guthani More towards SIWAN Regular 100 Open DC 35 35 1225 25 60 Draw of Lots 15	5
Pupri Road SH 87 Pupri Road	3
	4
	5
Within 2 km from Middle School Sisai Bazar towards Bhore on Bhore-Bhengari Main Road GOPALGANJ Regular 100 Open DC 35 35 1225 25 60 Draw of Lots 15	5
Within 2 km from Green Lawns Boarding School Harpur(Barharia) on SH-47 Within 2 km from Green Lawns Boarding School Harpur(Barharia) on SH-47 Regular 100 OBC DC 35 35 1225 25 60 Draw of Lots 15	4
Within 2 km from Milestone=Siswan '0' km) SIWAN Regular 100 SC CFS 35 35 1225 0 0 Draw of Lots 0	3
404 Between Milestone No 25 & 28 on SH-73 SIWAN Regular 100 Open DC 35 35 1225 25 60 Draw of Lots 15 405 Within 3 km from Siswan Railway Dhala(Siwan) CIWAN Regular 100 Open DC 35 35 35 1225 25 60 Draw of Lots 15	5
towards Hasanpura on SH-89 SIWAN Regular 100 Open DC 33 33 1225 25 60 Draw of Lots 15 406 Within 3 km from Main Gate of Public High School, SIWAN Regular 100 OBC DC 35 35 1225 25 60 Draw of Lots 15	5
Sahuli towards Chainpur on SH-89 Within 2 km from Milestone No (-Rhingari 2 km)	3
407 towards Bhore on Bhingari-Bhore Main Road GUPALGANJ Regular 100 S1 CFS 35 35 1225 0 0 Draw of Lots 0	
406 stone) on NH-101 SIWAN Regular 150 Open UC 35 45 1575 25 75 Uraw or Lots 15	5
Between KM stone 42 and KM stone 46, LHS while going from Darbhanga towards Purnea on NH 57 Regular 210 Open CC 35 45 1575 25 10 Bidding 30	5
Between KM stone 78 and KM stone 83, RHS while going from Darbhanga towards Purnea on NH 57 Regular 210 OBC PH CC 35 45 1575 25 10 Bidding 30	4
Between KM stone 59 and KM stone 62, RHS while going from Darbhanga towards Purnea on NH 57 Between KM stone 62, RHS while going from Darbhanga towards Purnea on NH 57 Darbhanga Regular 210 SC PH CFS 35 45 1575 0 0 Draw of Lots 0	3

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be an applicant		Mode of Selection	Minimum Bid amount	Security Deposit
1	2 Between KM stone 50 and KM stone 54, LHS while	3	4	5	6	7		8		9a	9b	10	11	12
412	going from Darbhanga towards Purnea on NH 57	Darbhanga	Regular	210	Open	СС	35	45	1575	25	10	Bidding	30	5
413	Within 2 KM from Leprosy Mission Chowk towards Mithanpura Post Office	MUZAFFARPUR	Regular	200	Open	СС	20	20	400	25	10	Bidding	30	5
414	Between KM Stone number 494 and KM Stone number 497 towards Muzaffarpur on LHS on NH	MUZAFFARPUR	Regular	200	OBC	сс	35	45	1575	25	10	Bidding	30	4
415	Between KM Stone number 502 and KM Stone number 505 towards Muzaffarpur on LHS on NH	MUZAFFARPUR	Regular	200	Open	сс	35	45	1575	25	10	Bidding	30	5
	28 Within 3 km from Milestone No. 84 in RHS on SH-				SC	CFS	35	35		0	0			2
416	74 towards Dewaria Between KM Stone number 499 and KM Stone	MUZAFFARPUR	Regular	100	SC	LFS		35	1225	0	U	Draw of Lots	U	3
417	number 501 towards Muzaffarpur on RHS on NH 28	MUZAFFARPUR	Regular	200	Open	CC	35	45	1575	25	10	Bidding	30	5
418	Between KM Stone number 494 and KM Stone number 497 towards Muzaffarpur on RHS on NH	MUZAFFARPUR	Regular	200	OBC	сс	35	45	1575	25	10	Bidding	30	4
419	Between KM Stone number 505 and KM Stone number 508 towards Muzaffarpur on LHS on NH	MUZAFFARPUR	Regular	200	Open	СС	35	45	1575	25	10	Bidding	30	5
420	28 Between Milestone No. 490 to 487 towards	MUZAFFARPUR	Regular	200	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
421	Motihari in LHS on NH-28 Between KM Stone number 534 and KM Stone	MUZAFFARPUR	Regular	200	OBC	СС	35	45	1575	25	10	Bidding	30	4
422	number 536 on NH 28 Between KM Stone number 536 and KM Stone	MUZAFFARPUR	Regular	200	Open	СС	35	45	1575	25	10	Bidding	30	5
423	number 539 on NH 28 Between KM Stone number 539 and KM Stone	MUZAFFARPUR	Regular	200	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
424	number 542 on NH 28 Between KM Stone number 542 and KM Stone	MUZAFFARPUR	Regular	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
425	number 544 on NH 28 Between KM Stone number 544 and KM Stone	MUZAFFARPUR	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
426	number 548 on NH 28 Between KM Stone number 548 and KM Stone	MUZAFFARPUR	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
427	number 552 on NH 28 Within 4 KM from KM Stone number 510 towards	MUZAFFARPUR	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
428	Muzaffarour on LHS on NH28 Within 4 KM from KM Stone number 533 towards	MUZAFFARPUR	Regular	200	OBC	DC	35	45	1575		75	Draw of Lots	15	4
429	Muzaffarour on NH 28 Between Kanti Thermal Power gate no. 1 and Milestone No. 511 (in LHS from Motihari to	MUZAFFARPUR	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Muzaffarour 1 on NH28 Between KM Stone number 502 and KM stone		neguio.	200	50	C. 5	33		1373			51041 01 2005		
430	number 506 towards Muzaffarpur on RHS on NH28	MUZAFFARPUR	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
431	Between Bhagwanpur Chowk & Chandni Chowk on NH 28 within Muzaffarour Town.	MUZAFFARPUR	Regular	200	Open	DC	20	20	400	25	75	Draw of Lots	15	5
432	Within 2 km from Chandani Chowk towards Kanti on NH-28	MUZAFFARPUR	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
433	Between Milestone No. 487 to 491 towards Muzaffarour in LHS on NH-28	MUZAFFARPUR	Regular	200	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
434	Within 3 km from Kazi-inda Chowk towards Dholi on NH-28	MUZAFFARPUR	Regular	200	SC CC 1	CFS	35	45	1575	~	0	Draw of Lots	0	3
435 436	Between KM stone 213 and 215 on NH 104 Within 4 Km from Kanpa Mode towards	Madhubani	Regular	150 164	Open PH OBC	DC DC	35 35	45	1575 1575	25	75 75	Draw of Lots	15	5
437	Mahabalipur on NH-98. Within 3 Km from intersection of SH-2 & NH-98 at	Patna Patna	Regular	168	Open	DC	35	45	1575	25	75	Draw of Lots Draw of Lots	15	5
438	Bikram towards Mahabalipur on NH-98 Between Danpur Junction & Phulwarisharif	Patna	Regular	170	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
	Golambar on MDR Road. Within 2 Km from CISF Head Quarter, Boring Road		Regular			DC	30				60			5
439	towards Patliputra Golambar. Between Phulwarisharif & Jagdeo Path Mode	Patna Patna	Regular Regular	184	Open OBC	DC	30	20	600	25	60	Draw of Lots Draw of Lots	15	4
441	(On Jagdeo Path Mode to Phulwarishrif Road). Within 2 Km from Nahar Chowk,Raukanpura		-			DC			600					-
441	towards Digha(On Rukanpura -Digha Road). Within 4 Km from Bhusaula chowk towards	Patna Patna	Regular	172	Open	DC	30	20	600		60	Draw of Lots Draw of Lots	15	5
	Akbarour via Janiour . Within 6 Km from intersection of SH-69 & NH-98		Regular		Open									
443	,Ranitalab towards Mahabalipur (On NH 98) Within 3 Km from Digha Mode towards	Patna	Regular	169	SC	CFS	35	45	1575		0	Draw of Lots		3
444	Rukanpura(On Digha-Rukanpura Road) Between Km Stone 199 and 203 on NH-30 (On	Patna	Regular	184	OBC	DC	30	20	600		60	Draw of Lots	15	5
445	LHS from Patna to Bakhtivarour) Within 2 Km from Belchi Police Station towards	Patna	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
446	Harnaut on NH-30 A(On LHS from Saksohra to Harnaut)	Patna	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
447	Between Km Stone 63 to 68 on NH-83 on LHS from Patna to Gaya(On New Patna-Dobhi Road)	JEHANABAD	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
448	On Proposed bypass between Palleya & Musi Bira on NH -83,(On New Patna-Dobhi Road)	JEHANABAD	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
449	Within 1.5 Km from Shree Brajlal prasad Higher Secondary(10+2) school,Nadaul towards Patna on NH-83(On New Patna -Dobhi Road)	Patna	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
450	Within 3 Km from Jahagirpur Hospital towards Arwal on NH-110.	JEHANABAD	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
451	Between Km Stone 51 to 56 on NH-83 (On RHS from Patna to Gava)	JEHANABAD	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
452	Between Chainage no 189 to 192 on NH-31(New Bukhtiyarpur -Mokama Road)	Patna	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
453	Within 4 KM from Madhyamik Vidyalaya Nadwan towards Patna On NH 83(New Patna-Dobhi Road)	Patna	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
454	Within 5 from Dumri -Beldari Chak Path towards Patna on NH-83 .(New Patna Dobhi Road)	Patna	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
455	Between Km Stone 210 to 214 on New Patna Bakhtiparpur NH -30(On LHS from Patna to	Patna	Regular	170	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
456	Bakhtivarnur) Between Km Stone 190 and 194 on NH-30 (On	Patna	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
457	LHS from Patna to Bakhtivarour) Jehanabad Town-1 on NH-83 (Within Municipal	JEHANABAD	Regular	150	Open	DC	20	20	400		45	Draw of Lots		5
458	Limit) Between Km Stone 10 and 15 on NH-30A	Patna	Regular	150	Open	DC	35	45	1575		75	Draw of Lots		5
	(Danivawan to Barh Road) Between Km Stone 224 and 230 on NH-30													
459	(New Patna-Bakhtiyarpur Road), RHS from Patna to Bakhriyarour	Patna	Regular	175	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be an applicant		Mode of Selection	Minimum Bid amount	Security Deposit
460	2 Within 4 Km from intersection of NH-83 and NH-	JEHANABAD	4 Regular	150	6 SC	7 CFS	35	45	1575	9a 0	9b O	Draw of Lots	0	3
461	110. on NH-110 towards Kako Within 4 Km from intersection of Larsa-Thali-	JEHANABAD	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
462	Dharampur Road towards Arwal on NH-110 Within 5 KM From Sakarpura more Hanuman Mandir towards Jehanabad on(new Patna -Dobhi	Patna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	RoadINH 83 Between Km Stone 72 and 76 on NH-83 new Patna													
463	Dobhi Road.(Patna -Gava Road) Within 5 KM from Hanuman Mandir at Shivnar (JEHANABAD	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
464	Junction of old NH 31 and Shivnar-Mokama Road)	Patna	Regular	160	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
465	Within 4 KM From Junction of NH 82 (Mokama Sarmera Road) & NH 31 On Mokama Bypass towards Bakhtiyarpur On NH 31.	Patna	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
466	Within 4 KM from Intersection of NH-31 & NH 82 (Mokama-Sarmera Road) on NH 82 Towards	Patna	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
467	Sarmera. Between Km Stone 206 and 208 on NH-30 (On LHS from Patna to Bakhtiyarpur)	Patna	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
468	Between Km Stone 0 and 5 towards Jandaha on	Vaishali	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Either Side of NH 322 (Hajipur - Jandaha Road)	V0.5.10.11	ricgaiai	130	Орен		33		1373			5.011 6.1 20.0		
469	Between Km Stone 7 and 12 towards Jandaha on Either Side of NH 322 (Hajipur - Jandaha Road)	Vaishali	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
470	Between Km Stone 32 and 37 on Either Side of NH 322 (Haijpur - Jandaha Road)	Vaishali	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
471	Between Km Stone 7 and 15 on NH-77 towards Muzaffarpur(RHS)	Vaishali	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
472	Between Km Stone 15 and 18 on Either Side of NH 322 (Haiipur - Jandaha Road)	Vaishali	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
473	Between Hajipur Railway Station & Hajipur Court	Vaishali	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
474	Within 2 Km from Hajipur Mahila Thana towards Nakhash Chowk(within municipal limits of Hajipur Town)	Vaishali	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
475	Between Mahatma Gandhi Setu Police Station & Anianpir Chowk on NH-19	Vaishali	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
476	Within 5 Km from Anishabad Golambar towards Patna Zero Mile on RHS of NH 30 (Going from Patna to Bakhtivarpur)	Patna	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
477	Between Choti Pahari power grid and Maa Shitla Mandir on Agam Kuan - Pahari Road.	Patna	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
478	Between Km Stone 3 and 6 on NH-77 towards Muzaffarour(LHS)	Vaishali	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
479	Between Km Stone 25 and 30 on NH-77 towards Muzaffarour(LHS)	Vaishali	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
480	Between km stone 954 and 950 in LHS of NH2, Going towards new delhi from Aurangabd	Aurangabad	Regular	224	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
481	Between km stone 949 and 944 in RHS of NH2, Going towards New delhi from Aurangabd	Aurangabad	Regular	220	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
482	Between km stone 132 and 134 in RHS on NH 139 Going towards Amba from Aurangabad	Aurangabad	Regular	184	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
483	Within 1.5 km in RHS from Kochas chowk towards Mohania on NH 30.	Rohtas	Regular	184	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
484	Between km stone 978 and 983 on LHS of NH2, Going towards kolkata from Aurangabd	Aurangabad	Regular	204	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
485	Between km stone 965 and 969 on RHS of NH2, Going towards kolkata from Aurangabd	Aurangabad	Regular	214	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
486	Between km stone 128 and 126 in RHS on NH 139 ,Going towards Daudnagar from Aurangabad	Aurangabad	Regular	242	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
487	Between km stone 125 and 123 in LHS on NH 139 ,Going towards Daudnagar from Aurangabad	Aurangabad	Regular	252	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
488	Between Block chowk Dinara(NH 30 Junction) and Belwaiyan chowk on NH 30	Rohtas	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
489	Within 4 KM from Gaura canal bridge towards dinara on NH 30	Rohtas	Regular	179	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
490	Between Ramesh chowk to Maharanapratap chowk Aurangabad on old GT road . within 2 km in RHS from tenduni chowk	Aurangabad	Regular	170	Open	DC	20	20	400	25	45	Draw of Lots		5
491	Bikramganj towards Maliabag on NH 120	Rohtas	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
492	Between km stone 148 and 150 in LHS on NH 139 , Going towards Hariharganj from Aurangabad	Aurangabad	Regular	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
493	Within 3 km from Goh Chowk towards Gaya on NH 120 .	Aurangabad	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
494	Within 2 km from Jonhi More on NH 120 ,Going towards Bikramgani from karakat .	Rohtas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
495	Within 6 km from dinara Block chowk(NH30 Junction) on LHS of NH 30 going towards kochas from Dinara	Rohtas	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
496	Within 2 km from dariyapur high school towards arwal on Goh- arwal road .	Aurangabad	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
497	Between km stone 940 to 937 on LHS of NH2, Going towards New delhi from Aurangabad	Aurangabad	Regular	186	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
498	Within 3km from Barun more towards nasriganj on Daudnagar - Nasrigani NH 120 .	Aurangabad	Regular	174	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
499	Within 8 Km Sohsarai-Chandi More towards Bena on NH 31 (LHS)	Nalanda	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	3
500	Between Mile Stone 64 & 71 on NH 31 (RHS) Between Griyak- Rajgir More to Muffasil	Nawada Nalanda	Regular Regular	150 150	ST Open	CFS DC	35 35	45 45	1575 1575	25	0 75	Draw of Lots Draw of Lots	15	5
502	Thana(Naharpar) on NH 31 (RHS) Between Mile Stone 74 to 80 on NH 31 (LHS)	Nawada	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
503	Within 3 Km from Tungi (Nawada-Gaya Border) towards Mujhway on NH 82.	Nawada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
504	On New Bypass (for Harnaut Market) of NH 30A	Nalanda	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
505	On New Bypass (For Biharsharif Town) of NH 82	Nalanda	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
506	Dibaur on NH -31 (from Kodarama Valley towards Raiauli)	Nawada	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
507	Within 3 Km From Gonawan Middle school towards Barh on NH- 30A Between Sohsarai-Chandi More to Andhana More	Nalanda	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
508	on Sohsarai Noorsarai Road In Between Devi Sarai More to Big Bazar on	Nalanda	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots		5
509	Ramchndrapur Road	Nalanda	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3

		T		Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be an applicant	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2 Within 2 Km from Kharat Mara Tayyarda Nayyada	3	4	5	6	7		8		9a	9b	10	11	12
510	Within 2 Km from Kharat More Towards Nawada on NH 31 (LHS)	Nawada	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
311	From Pachasa More to Hospital More (Within Municipal Limit of Biharsharif) not on NH	Nalanda	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Between Mile Stone 77 to 78 on NH 31 (RHS) Within 5 Km from Harnaut Towards Narsanda on	Nawada	Regular	150	Open	DC	35	45	1575		75	Draw of Lots	15	5
513	NH 30A Within 3 Km From Nalanda ruins Mode towards	Nalanda	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
514	Silao on NH 82 (LHS)	Nalanda	Regular	150	SC	CFS	35	45	1575	_	0	Draw of Lots	0	3
515	On New Bypass (for Asthawan market) of NH 82	Nalanda	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
516	Powari (On NH 30A Between Gonawan Powari High School to Alinagar on RHS)	Nalanda	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Musahari (On NH 82 LHS from Sarmera) On New Bypass (for Nardiganj market) of NH 82	Nalanda Nawada	Regular Regular	154 150	OBC SC	DC CFS	35 35	45 45	1575 1575		75 0	Draw of Lots Draw of Lots	0	3
	Between Mile stone 63 to 67 on NH 31 (LHS)	Nawada	Regular	150	Open	DC	35	45	1575		75	Draw of Lots	15	5
	Within 6 km from Bodh Gaya Domuhan towards Dobhi on NH-83 on LHS	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
521	Within 5 Km from Bodh Gaya Domuhan towards Dobhi on NH-83 on RHS	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
522	Within 5 km from junction of NH-2 and NH-83 at	Gaya	Regular	186	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
523	Dobhi on NH-2 towards Kolkata (LHS) Within 6 km from Panchayati Akhara OP towards	Gaya	Regular	156	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Patna on either side of NH-83 Within 5 km fom Wazirganj chowk (Tarwan-	Gaya	Regular	156	Open CC 1	DC	35	45	1575		75	Draw of Lots		5
	Fatehpur more) towards manpur on NH-82 Within 5 km from junction of NH-82 and NH-83 on	Gaya		156	OBC	DC	35	45	1575	25	75		15	4
	NH-82 (LHS) Within 10 km fom Bihar Jharkhand Border on NH-		Regular									Draw of Lots		-
320	2 towards Delhi on RHS Within 5 km from Belaganj chowk towards	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	2
327	Jehanabad on RHS Within 3 km from Sikaria More towards Dobhi on	Gaya	Regular	156	SC	CFS	35	45	1575		0	Draw of Lots	0	3
528	NH-83 (LHS)	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 6 km from Dobhi (NH-2 junction) on Dobhi Chatra raod (NH-99) toward Chatra (LHS)	Gaya	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Within 10 km from Imamganj more, Sherghati on	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	NH-2 towards Delhi on LHS Within 6 km from Arwal Chowk Towards Patna on	Arwal	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	NH-98 (LHS)	Aiwai	ricgulai	130	Орен	DC .	33	45	1373	23	,,	Draw or Lots	13	3
	Within 2 Km from Prathmik Vidyalaya,Pranpur towards belaganj on NH 83.	Gaya	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 3 Kms from Maa Tarachandi Temple (Either	Rohtas	Regular	180	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
	side), RHS While going from Delhi to Kolkata Within 3 Kms on either side of Sasaram Toll (LHS													
534	While going from Delhi to Kolkata)	Rohtas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
535	Within 5 Kms from Sasaram Toll Towards Kudra on NH-2 (RHS While going from Delhi to Kolkata)	Rohtas	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
536	within 3 kms on either side of Tata Motors Agency,	Rohtas	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	LHS While going from Delhi to Kolkata Bhabua (Within Municipal Limit) - Other than	Kaimur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Bhabhua- Kudra Bypass Road. within 4 kms on either side of Mohania Toll, LHS	Kaimur	Regular	150	Open	DC	35	45	1575		75	Draw of Lots		5
	While going from Delhi to Kolkata Within 4 Kms on either side of Mohania Toll on NH-	Kaimui	Regulai	130	Ореп	ьс	33	43	13/3	23	,,	Draw or Lots	13	3
539	2, RHS - While going from Dehi to Kolkata)	Kaimur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
540	Within 5KMS from Ekta Chowk, Bhabhua on Bhabhua-Kudra Road	Kaimur	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
541	within 5 Kms from Mohania (T-Point) on Mohania- Ara Road	Kaimur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Withn 3 Kms from Nuaon Chowk towards	Kaimur	Regular	124	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
543	Ramgarh (on Durgawati-Ramgarh Road) Within 3 Kms of chainpur Block on either side of	Kaimur	Regular	150	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Hatta-chainpur-Chand Road On Bhabhua - Kudra Bypass Road (Kaimur stambh											- 4		
544	connecting to Bhabhua Kudra Main Road)	Kaimur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Between CH 845 and CH 850 (LHS While going from Delhi to Kolkta) - Durgawati karmanasa	Kaimur	Regular	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
546	section of NH-2 Within 2 kms of Indrapuri Police station towards	Rohtas	Danielan	150	0	DC	35	45	1575	25	75	Draw of Lots	15	5
	tilouthu on dehri- Tilouthu Road Within 3 Kms from Suara Morh on NH-2 (RHS on		Regular		Open									
547	Dehri-Kudra Section) Between CH 921 and CH 926 (RHS While going	Rohtas	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
	from Delhi to Kolkta) - Kudra Dehri section of NH-	Rohtas	Regular	180	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
	Between Mile stones, (Mohania=13 KM) to	Kaimur	Pogular	150	sc	CFS	25	45	1575	0	0	Draw of Lots	0	,
	(Mohania=18KM) from Mohania T-Point on Mohania - Ara Road	Kaimur	Regular	130	SC	LF3	35	40	1575	0	U	DI AW OT LOTS	٥	3
550	Within 5 Kms from Akbarpur(Rohtas) T-Point on Akbarour-Yadunathour Road	Kaimur	Regular	124	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
551	Within 5 Kms from Tilouthu Chowk towards Banjari on Tilouthu-Banjari Road	Kaimur	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
552	Khurmabad (On NH2, RHS While going from Delhi to Kolkata)	Kaimur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 5 km from Junction of NH 2 & NH 83 at	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Dobhi towards bodhgaya domuhan on NH-83(RHS)					-		-					<u> </u>	
	Within 5 km from Junction of NH 2 & NH 83 at Dobhi towards bodhgaya domuhan on NH-83(LHS)	Gaya	Regular	156	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 5 km from BP Dobhi on NH-2 towards	Gaya	Regular	186	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Kolkata on LHS Within 6 km from Panchayati Akhara OP towards	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots		5
	Patna on either side of NH-83 Within 5 km fom Bhindasmode towards manpur	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	on NH-82 Within 5 km from junction of NH-82 and NH-83 on		_									-		
558	NH-82 (RHS) Within 3 km from Sherghati block office towards	Gaya	Regular	156	SC	CFS	35	45	1575		0	Draw of Lots		3
229	Delhi on NH 2(LHS) Within 5 km from Belaganj chowk towards	Gaya	Regular	156	OBC	DC	35	45	1575		75	Draw of Lots	15	4
560	Jehanabad (LHS)	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

				Estimated monthly Sales			Minimum Dime	nsion (in M.)/Area	of the site (in	Finance to be a	rranged by the		Fixed Fee / Minimum Bid	
SI. No I	Name of location 2	Revenue District	Type of RO 4	Potential #	Category 6	Type of Site*	Sq. M.). *	8	a di di di di di (iii	applicant 9a	9b	Mode of Selection	amount 11	Security Deposit
561	Within 3 km from Sikaria More towards Dobhi on NH-83 RHS	Gaya	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 8 km from Dobhi (NH-2 junction) on Dobhi Chatra raod (NH-99) toward Chatra(RHS)	Gaya	Regular	156	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
563	Within 5 km from Imamganj more towards dobhi on NH-2 (RHS)	Gaya	Regular	156	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
564	Within 6 km from Arwal Chowk Towards Patna on NH-98 (RHS)	Arwal	Regular	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	within 5 km from City public school towards Wazirgani on NH 82(LHS)	Gaya	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
300	within 5 km from City public school towards Wazirgani on NH 82(RHS)	Gaya	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
567	within 3 kms from shiv beni sao college,kaler towards arwal on NH98(RHS)	arwal	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 2 Km from Prathmik Vidyalaya,Pranpur towards Gaya on new Byepass NH 83.	Gaya	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
569	Within 3 Kms from Maa Tarachandi Temple (Either side), RHS While going from Delhi to Kolkata	Rohtas	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 3 Kms on either side of Sasaram Toll (LHS While going from Delhi to Kolkata)	Rohtas	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Within 5 Kms from Sasaram Toll Towards Kudra on NH-2 (RHS While going from Delhi to Kolkata)	Rohtas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
572	within 3 kms on either side of Tata Motors Agency, LHS While going from Delhi to Kolkata	Rohtas	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Bhabua (Within Municipal Limit) - Other than Bhabhua- Kudra Bypass Road.	Kaimur	Regular	120	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
	within 4 kms on either side of Mohania Toll, LHS While going from Delhi to Kolkata	Kaimur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
5/5	Within 4 Kms on either side of Mohania Toll on NH- 2, RHS - While going from Dehi to Kolkata)	Kaimur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
376	Within 5KMS from Ekta Chowk, Bhabhua on Bhabhua-Kudra Road	Kaimur	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
5//	within 5 Kms from Mohania (T-Point) on Mohania- Ara Road	Kaimur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
5/8	Within 3 Kms from Nuaon Chowk towards Ramgarh (on Durgawati-Ramgarh Road) Within 3 Kms of chalapur Block on either side of	Kaimur	Regular	124	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Within 3 Kms of chainpur Block on either side of Hatta-chainpur-Chand Road	Kaimur	Regular	150	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
580	On Bhabhua - Kudra Bypass Road (Kaimur stambh connecting to Bhabhua Kudra Main Road)	Kaimur	Regular	120	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
581	Between CH 845 and CH 850 (LHS While going from Delhi to Kolkta) - Durgawati karmanasa section of NH-2	Kaimur	Regular	180	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
362	Within 2 kms of Indrapuri Police station towards tilouthu on dehri- Tilouthu Road	Rohtas	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
583	Within 3 Kms from Suara Morh on NH-2 (RHS on Dehri-Kudra Section)	Rohtas	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
584	Between CH 921 and CH 926 (RHS While going from Delhi to Kolkta) - Kudra Dehri section of NH-	Rohtas	Regular	180	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
585	Between Mile stones, (Mohania=13 KM) to (Mohania=18KM) from Mohania T-Point on Mohania - Ara Road	Kaimur	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
300	Within 5 Kms from Akbarpur(Rohtas) T-Point on Akbarpur-Yadunathpur Road	Kaimur	Regular	124	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
587	Within 5 Kms from Tilouthu Chowk towards Baniari on Tilouthu-Baniari Road Khurmahad (On NH3, PHS While gains from Dalki	Kaimur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
300	Khurmabad (On NH2, RHS While going from Delhi to Kolkata) Within 5 KMs from Koransarai Police station on NH-	Kaimur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
589	120 towards Malivabagh Within 5 KMs from Shahpur chowk on NH-84	Buxar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
390	towards Ara Within 5 KMs from Bihea Chaurasta on NH-84	Bhojpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
291	towards Ara Within 3 KMs from Bihea Chaurasta on NH-84	Bhojpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
392	towards Buxar Within 4 KMs from Barhampur Chaurasta on NH-	Bhojpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
593	84 towards Buxar Within 4 KMs from Purana Bhojpur chowk on NH-	Buxar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots		5
595	84 towards Ara Within 5 KMs from Buxar Golumbar chowk on NH-	Buxar	Regular Regular	150 150	SC Open	CFS DC	35 35	45 45	1575 1575	25	0 75	Draw of Lots Draw of Lots		5
595	84 towards Ara Within 6 KMs from Koilwar Chowk(Intersection of NH 30 & Arra-Chhapra Road towards Babura on	Bhojpur	Regular	110	OBC	DC	35	35	1225	25	45	Draw of Lots		4
597	Arra-Chhanra Road Within 2 KMs from Ambika Sharan Singh High	Bhojpur	Regular	100	Open CC 1		35	35	1225	25	45	Draw of Lots		5
E00	school, Jamalpur on Koilwar-Chhapra Road Within 2 KMs from Utkramit Madhya Vidyalaya, kolharampur on Koilwar-Chhapra Road	Bhojpur	Regular	100	SC SC	CFS	35	35	1225		0	Draw of Lots		3
	Between Chainage 872 to 874 on NH2, LHS While	Kaimur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
600	going from Delhi to Kolkata Within 2 km from Karmnasa river, LHS While going	Kaimur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots		5
601	from Delhi to Kolkata Within 1KM from Dadar (T-Point with NH-30) on	Kaimur	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots		5
602	Dadar - Darwa Road Within 3 Kms from Beda Nahar Towards NH2	Kaimur	Regular	100	ОВС	DC	35	35	1225		45	Draw of Lots		4
603	(Kumahu side) on Old GT Between Chainage 880 to 882 on NH2 (RHS While	Kaimur	Regular	150	SC	CFS	35	45	1575		0	Draw of Lots		3
604	going from Delhi to Kolkata) Between Nalanda More to Bridge on Panchane	Nalanda	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots		5
605	River on NH 82 Between Sadbhawna Chowk to Mastanganj on NH 31 hoth side of Road	Nawada	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
606	31 both side of Road Between KM stone number 217 to 222 on New NH- 30(On RHS from Patna to Bakhtiyarpur)	PATNA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
607	Between KM stone number 202 to 207 on New NH- 30(On RHS from Patna to Bakhtiyarpur)	PATNA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
608	Within 4 km from Patna to Bakntivarouri Within 4 km from Deohara punpun bridge towards Daudnagar on Daudnagar- Goh NH 120 (New).	Aurangabad	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 4 km from Bhakhaua more daudnagar towards Goh on Daudnagar - Goh NH 120 (New) .	Aurangabad	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
610	Within 2 km in RHS from Maliabagh chowk towards bikramganj on Maliabagh -Bikramganj NH 120 (New).	Rohtas	Regular	174	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
611	Between km stone 105 & 107 in RHS of NH 139,	Aurangabad	Regular	174	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
612	Going towards Aurangabad from Daudnagar . Within 2 KM from Sarana canal bridge in RHS	Rohtas	Regular	174	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	towards dinara on Ara - Mohania NH 30 . Between Km Stone 24 and 26 on NH-77 towards		-											
613	Muzaffarour(RHS) Bwtween mile stone 208 & 210 on NH-30(Patna	Vaishali	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
614	to Bakhtivarpur Road Within 4 Km from Ballami Chowk	Patna	Regular	164	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
615	mode,Phulwarisharif towards Ranipur	Patna	Regular	160	Open	DC	30	20	600	25	60	Draw of Lots	15	5
616	Within 2 Km from Amjhore police Stn towards towards Rohtas on NH 2C(RHS)	Rohtas	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
617	Rajapur (On Koilwar-Chhapra Road) Within 5 KMs from Babura Chowk on Koilwar-	Bhojpur	Regular	115	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
618	Chhapra Road towards Ara Within 3 KMs from Jamalpur Bazar mathia (Shiv	Bhojpur	Regular	110	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
619	Temple) on LHS of Koilwar-Chhapra Road towards Babura	Bhojpur	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
620	Within 6 KMs from NH-84 Zero Mile, Ara on Ara- Buxar Road (NH-84) towards Buxar	Bhojpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
621	Within 4 KMs from Shahpur chowk on NH-84 towards Buxar	Bhojpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
622	Within 6 KMs from Koilwar Bridge on NH-30 towards Jagdishpur	Bhojpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
623	Within 6 KMs from Ara Zero Mile (Junction of SH- 12 & NH-30) on LHS of Ara-Mohania road (NH-30)	Bhojpur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
624	towards Lagdishour Within 4 KMs from KVM High school, Chota	Bhojpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Sasaram on NH-84 Within 3 KMs from Jagdishpur chowk on NH-30	Bhojpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
626	towards Ara Within 5 KMs from Buxar Railway Crossing	Buxar	Regular	105	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	towards Itarhi on Buxar-Itarhi Road Within 6 KMs from Gandhi Smaarak High													
627	School,Dhansoi on Itarhi-Dhansoi-Dinara Road	Buxar	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
628	Within 5 KMs from Koransarai Police station on NH 120 towards Dumraon	Buxar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
629	Within 6 KMs from Maliyabagh chowk towards Jagdishpur on NH-30	Buxar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
630	Within 6 KMs from Maliyabagh chowk towards Dumraon on NH-120	Buxar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
631	Within 5 KMs from Purana Bhojpur chowk on NH- 84 towards Buxar	Buxar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
632	Within 2 KMs from Middle school, Itarhai on Itarhi- Dhansoi-Dinara Road towards Dinara	Buxar	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
633	Between Danapur Junction and Saguna mode	Patna	Regular	271	OBC CC 1	DC	30	20	600	25	60	Draw of Lots	15	4
634	Between Saguna More & Dak Bunglow Golamber on Bailey Road	Patna	Regular	254	SC CC 1	CFS	30	20	600	0	0	Draw of Lots	0	3
635	Between Anishabad Golambar & AIIMS main gate Gate	Patna	Regular	188	Open PH	DC	30	20	600	25	75	Draw of Lots	15	5
030	Within 8 km from AIIMS main gate towards Naubatour on NH-98.	Patna	Regular	188	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
637	Within 6 Km from Aashiyana More towards Digha on Ashiyana-Digha Road .	Patna	Regular	150	Open	DC	30	20	600	25	60	Draw of Lots	15	5
638	On Road connecting NH 30(Patna Bye pass) & Sri Akaltakht harmandir.Gurudwara	Patna	Regular	184	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
639	Within 3 Km from Shekhpura Mode towards A.G.Colony Road.	Patna	Regular	175	Open	DC	30	20	600	25	60	Draw of Lots	15	5
640	Within 8 km from Raja Pul towards Danapur on Patna - Digha Road .	Patna	Regular	173	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
641	Within 2.5 KMs from Sikarhata Police Station on SH-102 (Piro-Sikarhata Road)	Bhojpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
642	Within 4 Km from Bihta Chowk towards Bikram on SH-2.	Patna	Regular	108	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
643	Within 5 Km from intersection of SH-2 & SH-	Patna	Regular	114	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
644	69.Paligani Town towards Kiniar (On SH 69) Between Km Stone 17 and 20 on SH-100 (Okri	Patna	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
645	Masaurahi Path) Within 3 KM from intersection of NH-30 & SH-78	Patna	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
646	(At Kanhauli) towards Sarmera on SH 78. Between Km Stone 32 & 36 on SH-1	Patna	Regular	105	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
647	(Patna-Mashauri Road) Within 2 Km from Hulasganj Math Tiraha on SH-4	JEHANABAD	Regular	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
648	Within 5 km from Rafiganj (Kasima More) towards	Aurangabad	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	sheogani on SH 68 Within 2 km from akauni more towards sheoganj	Aurangabad	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
049	on SH 68 Within 1.5 km in RHS from Jalalpur gate towards					DC	35	35		25	60		15	5
650	sasaram on kochas sasaram road SH 17 Within 3.5 km from Bazar samiti main gate	Rohtas	Regular	100	Open	DC			1225			Draw of Lots		4
651	Natwar towards dinara on SH 15 Within 2 km from bridge of buxar canal Natwar	Rohtas	Regular	100	OBC		35	35	1225	25	60	Draw of Lots	15	-
652	towards Bikramgani on SH 15 Within 3.5km from thana chowk bikramganj	Rohtas	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
033	towards Sanihauli on SH 12 Within 2 km from Punjab national bank nokha	Rohtas	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
054	towards sasaram on SH 12. Within 5 km from sheoganj NH2 junction towards	Rohtas	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
655 656	Rafigani on SH 68 Dehuri on Rafiganj - Goh Road SH 68	Aurangabad Aurangabad	Regular	100	OBC SC	DC CFS	35 35	35 35	1225 1225	25 0	60	Draw of Lots Draw of Lots	15	3
657	Within 3 Km From Intersection of NH31 & Bihta	Nalanda	Regular Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots Draw of Lots	15	5
658	Sarmera Road on Bihta Sarmera Road Within 5 Km From Kachna More Towards Kawakol	Nawada	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	on Kachna Kawakol Road Within 3 Km From Intersection of Bind- Manpur													
659	Road towards Sarmera on Bihta Sarmera Road	Nalanda	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
660	On New Bypass (For Hilsa Town) of SH 4 Within 5 Km from Rajkey Sarvodaya Inter School –	Nalanda	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
661	Sughari towards Akbarpur (On Akbarpur- Govindpur Road)	Nawada	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
662	Between Panchapur (Panchanpur Tekari More) and Ahiyapur more on SH-69	Gaya	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	oq. m.j.	8	1	9а	9b	10	11	12
663	WITHIN 5km from KAPASIYA HIGH SCHOOL towards ON SH 101	gaya	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
664	Within 5 km from makhdumpur-sonwan- hulasganj road and SH 4 junction towards khijarsaraj on SH4	gaya	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
665	Within 5km from dumaria block towards rajkel river on SH69	Gaya	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
666	Within 3 kms from manikpur bazaar on SH69.	gaya	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
667	Between chainage (SASARAM=12KM To SASARAM=14 KM) on Sasaram-karahgar Road	Rohtas	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
668	Within 5 Kms from Mohania Railway over bridge on Mohania-Bhabua Road (SH-14)	Kaimur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
669	Within 4 Kms from Bardiha chowk on SH -49	vaishali	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
670	towards Taipur (Haiipur-Taipur Road) Between km stone no 17 to 21 on SH-93	vaishali	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
671	Within 5 KMs from Sahar Bus Stand on SH-81	Bhojpur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
672	towards Nasrigani Within 3 KMs from Piro Chowk towards Jagdishpur on SH-102 (Piro - Jagdishpur Road)	Bhojpur	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
673	Between MILE STONE 24 & 27 on SH-12, Charpokhri	Bhojpur	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
674	Within 3 KMs from Dhokraha Government Middle School towards Bihta on SH-81 (Sahar - Nasriganj Road)	Bhojpur	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
675	Within 5 Kms from Mohania flyover on Mohania- Ramgarh Road (SH-14)	Kaimur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
676	Within 3 kms on either side of Sisaura Chowk on	Kaimur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
677	Ramgarh Nuaon Road (SH-14) Within 5 kms from CHAUSA Railway Crossing,	Buxar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
678	Chausa on SH-13 towards Buxar Within 5 KMs from Akhauripur Gola chowk	Buxar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
679	towards Ramour on SH-14 Within 5 KMs from Akhauripur Gola chowk	Buxar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	towards Kochas on SH-17 Within 5 Km from Baghi Bagdiha More towards		-											-
680	Warsaligani on SH 83	Nawada	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
681	Within 2.5 Km From Khudaganj police station on SH 71(either side)	Nalanda	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
682	Within 3 Km From Rajauli-Sirdala intersection towards Sirdala on SH 70	Nawada	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
683	In between 1 Km to 6 Km from Shekh Abdula Road, Islampur on SH 4 (Towards Ekangarsarai)	Nalanda	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
684	Between Km Stone 5 and 10 on SH-1 (Patna to Gava Road)	Patna	Regular	140	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
685	Within 3 Km from intersection of NH-30A & SH-78	Patna	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
686	(At Daniyawan) towards Bihta on SH 78. Within 3 Km from intersection of NH-83 & SH-78 (at Dumri) towards Sarmera on SH 78(On RHS from	Patna	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
687	Rihta to Sarmera) Between km stone no. 78 & 81 on Nasriganj - sahar SH 81.	Rohtas	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
688	Within 5 Kms from Sheosagar T-Point on	Rohtas	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
689	Sheosagar-Chenari Road(On SH-67) Within 4 Kms from Gandhi Chowk,Mahua towards	vaishali	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
690	Haiipur on SH-49 Within 2km from Mahnar Police Station towards Hajipur on Hajipur-Mahnar Road SH 93	vaishali	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
691	Within 4 Km from Mahua Mode (Intersection of SH 49 and NH 77) towards Mahua on SH 49	vaishali	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
692	Within 4 Km of Anjanpeer chowk towards Lalganj on either side of SH 74 (Hajipur Lalganj Road)	vaishali	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
693	Within 5 Km from Mayapur-Mohabbatpur More	Nalanda	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
694	towards Griyak on SH71 Within 3 Km from intersection of SH-1 & SH-78 towards Sarmera on SH 78(On LHS from Bihta to	Patna	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
695	Sarmera) Between Tatarpur Chowk and TNB College main	Bhagalpur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
696	Gate in Bhagalpur town In between KM Stone number 134 and 140 on	Bhagalpur	Regular	173	sc	CFS	35	45	1575	0	0	Draw of Lots		3
	Sabour-Lailakh road. on NH 80 Within 3 Km from SP Residence towards Balgudar													5
697	on Lakhisarai Byepass Road	LAKHISARAI	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	2
698	Within 2 Km from junction of NH 80 and Lakhisarai Byepass on Lakhisarai Byepass Road	LAKHISARAI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
699	Within 8 KM from Naugchia zero mile towards Vijay Ghat on SH 58(RHS while going towards Vijay ghat from Naugachhiya Zero Mile)	Bhagalpur	Regular	108	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
700	Within 4 kilometers from Katihar More , khuskibagh on NH131 A towards Katihar	Purnia	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
701	Within 6 kms from Hatia More,Barbigha towards	Sheikhpura	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
702	Sheikhpura ON NH333A (LHS) Within 6 kms from Hatia More,Barbigha towards	Sheikhpura	Regular	150	Open	СС	35	45	1575	25	10	Bidding		5
702	Sheikhpura ON NH333A (RHS) Between Girja Chowk & Madhubani Chowk on	Purnia	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	NH107 Within 3 Km from Jamatia Dhala towards Barauni													
704	Zero Mile on NH 28 Within 2 Km from Gandaul Chowk towards Biraul	Begusarai	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
705	on Saharsa-Gandaul-Biraul road(within Saharsa District)	Saharsa	Regular	110	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
706	Within 7 km from Barauni Zero Mile towards Teghra on NH 28	Begusarai	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
707	Between Baisa Bridge & Sheeshabari Chowk on Rauta-Barbatta Road on SH99	Purnia	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
708	In between KM Stone number 182 and 186 on	Bhagalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
709	Pirpainti-Mirzachowki road on NH 80. Within 4 Km from Balgudar Toll towards Barahaiya	LAKHISARAI	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
710	on NH 80 (LHS) Within 6 Km from Balgudar Toll towards	LAKHISARAI	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
, 10	Barahaiva on NH 80 (RHS) In between KM Stone number 5 and 7 on	O INTIONIAL	cguiaí	230	ODC FIT	50	33	7.5	23/3			DIGW OI LOS	1.5	*
711	Akbarnagar Sahkund road on SH 85 (LHS while going towards Sahkund from Akbarnagar)	Bhagalpur	Regular	111	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category 6	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant 9a	ranged by the 9b	Mode of Selection	Minimum Bid amount	Security Deposit
712	From Gorhatta Chowk towards Baijani on SH 19 (Within municipal limit of Bhagalpur town)	Bhagalpur	Regular	123	Open	сс	20	20	400	25	10	10 Bidding	30	5
713	Between KM stone 296-300 On NH57 (LHS while going from Araria towards Gulabbagh Zero mile)	Purnia	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
714	Within 2km from Utkramit Madhya Vidhyalaya,	Kishanganj	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
715	Dighalbank towards Harwadanga Within 4 KM from Toll plaza towards Dogachhi on	Bhagalpur	Regular	156	Open	СС	35	45	1575	25	10	Bidding	30	5
716	NH80 byepass. In between Tilkamanjhi Chowk and Central Jail	Bhagalpur	Regular	180	Open	СС	20	20	400	25	10	Bidding	30	5
717	main gate at Bhagalour Town. Within 2.5 Kilometers from Gulabbagh Zeromile on NH31 (RHS while going from Gulabbagh to Siliguri)	Purnia	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
718	Within 4 KM from Shiv Mandir Morkahi towards Sahebpur Kamal on NH 31	Begusarai	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
719	Between Manjhali Chowk & Banbhag Chowk on NH107	Purnia	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
720	Between KM stone 156 & KM stone 161 on Sarsi- K. Nagar Road on NH107	Purnia	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
721	Within 5 Kilometers from Sarsi Chowk towards Banmankhi on NH107	Purnia	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
722	Within 2 km from Baijnathpur Golambar on SH 59 towards Chandaur	Saharsa	Regular	110	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
723	In between Km stone no 1 and 3 on Bhagalpur - Kajraili Road on SH25 (LHS while going towards Kairaili from Bhagalpur)	Bhagalpur	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
724	Within 7 Km from Vidyapeeth Chowk towards Suraigarha on NH 80 (RHS)	LAKHISARAI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
725	Within 6 Km from Lohiya Chowk on NH327E towards Saharsa	Supaul	Regular	160	ОВС	СС	35	45	1575	25	10	Bidding	30	4
726	Between KM stone 36 & KM stone 38 on Dhamdaha-Bhawanipur Road on SH65 (LHS while going from Dhamdaha towards Bhawanipur)	Purnia	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
727	Within 7 Km from Vidyapeeth Chowk towards	LAKHISARAI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
728	Surajgarha on NH 80 (LHS) Between KM stone 5 & KM stone 7 on Rupauli- Tikapatti Road on SH65 (RHS while going from	Purnia	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
729	Runauli towards Tikanatti) In between Km stone 3 and 6 on Saharsa-Sonbarsa	Saharsa	Regular	115	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Kachari Road on SH95 Within 5 kilometers from Panchmukhi Mandir on		ricgulai											
730	Panchmukhi Mandir to Kasba Road on SH60 Within 4 kilometers from Gulabbagh zeromile on	Purnia	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots		5
731	NH-57 (LHS while going from Gulabbagh to Ararial)	Purnia	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
732	Within 4 Km from Surajgarha Block Office towards Lakhisarai on NH 80	LAKHISARAI	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
733	Within 6 Km from Sadar Hospital, Surajgarha towards Munger on NH 80 (LHS)	LAKHISARAI	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
734	Between Belgachhi bazaar chowk & Harerampur Chowk on NH 31 on Purnea-Baisi Road (RHS Towards Siliguri)	Purnia	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
735	Within 6 Km from Sadar Hospital, Surajgarha towards Munger on NH 80 (RHS)	LAKHISARAI	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
736	Within 3 kms from Barhaiya Police Station towards Lakhisarai on NH 80	LAKHISARAI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
737	Within 4 km from Railway crossing 95-B while going from Madhepura towards Saharsa on NH107	Saharsa	Regular	160	OBC	сс	35	45	1575	25	10	Bidding	30	4
738	Within 5 kilometers from Belauri Chowk on Belauri- Andelihat Road on SH98	Purnia	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
739	Within 5 Km from chandni chowk ,towards Bhatkora NH107	Madhepura	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
740	Lakhisarai town(Within Municipal Limit) Within 7 kilometers from Maranga toll plaza	LAKHISARAI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
741	towards Gulabbagh Zeromile on NH31 (LHS while going from Maranga to Gulabbagh)	Purnia	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
742	Within 7 kilometers from Maranga toll plaza towards Gulabbagh Zeromile on NH31 (RHS while going from Maranga to Gulabbagh)	Purnia	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
743	With 7 kilometers from Maranga Toll Plaza towards Naugachia on NH31 (LHS while going from Purnea to Naugachia)	Purnia	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
744	Within 4 Km from Kishanpur Golambar on RHS while going from Kishanpur towards Lohiya Chowk on NH327A	Supaul	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
745	From Toll Tax Barier At Balgudar Lakhisarai To Vidyapeeth Chowk on NH 80 (LHS)	LAKHISARAI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
746	Within 1 km either side of Singharapatti Chowk on NH65	Purnia	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
747	From Toll Tax Barier At Balgudar Lakhisarai To Vidvapeeth Chowk on NH 80 (RHS)	LAKHISARAI	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
748	Within 5 KM on NH327A from intersection of NH57 and NH327A towards Kishanpur	Supaul	Regular	160	ОВС	сс	35	45	1575	25	10	Bidding	30	4
749	Within 7 kms from Hatia More, Barbigha towards Biharsharif on NH82	Sheikhpura	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
750 751	Within Municipal limit of Purnea Town Within 6 Km from Pipra chowk on NH106 towards	Purnia Supaul	Regular Regular	160	Open OBC	CC DC	20 35	20 45	400 1575	25 25	10 75	Bidding Draw of Lots	30 15	4
752	simrahi Between Dagarua Police Station & Belgachhi Power Substation on NH31 (RHS while going from	Purnia	Regular	150	Open	СС	35	45	1575	25	10	Bidding		5
753	Dagarua to Belgachhi) Within 2 Km from Shivpuri dhala towards Chaughara (on Saharsa -laukaha-chaughara Road)	Saharsa	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
754	Between Hatia Chowk Barbigha and Keoti police	Sheikhpura	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
755	station on NH 82 . Within 6 Km from Durga Chowk, Singheswar	Madhepura	Regular	160	OBC	СС	35	45	1575	25	10	Bidding	30	4
756	towards Pipra on NH106 Within 2 to 6 km from Shubash Chowk on NH 107	Saharsa	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
757	towards Barivahi Within 5 Km from College Chowk,madhepura	Madhepura	Regular	160	Open	СС	35	45	1575	25	10	Bidding	30	5
	towards Singheswar on NH 106 Within 2 Km from Sheikhopursarai Police Station											_		
758	towards Mission Chowk on SH 83 (LHS) Within 2.5 Km from Baijnathpur Golambar	Sheikhpura Saharsa	Regular	100	SC	CFS DC	35	35 45	1225	25	75	Draw of Lots		3
759	towards Madhepura on NH107	Saharsa	Regular	165	OBC	DC.	33	45	1575	²³	/3	Draw of Lots	15	*

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be an applicant	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2 within 4 Km from Pipra Chowk towards Triveniganj	3	A Deciden	5	6	7	25	8	4575	9a	9b	10	11	12
760	on NH327E Within 10 Km from Mirganj Chowk towards Tikulia	Supaul	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
761	on SH91 Between Shivrampur Chowk and Peer Mazar on	Madhepura	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
762	SH-98	Katihar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
763	Within 2 Km from Sheikhopursarai Police Station towards Mission Chowk on SH 83 (RHS)	Sheikhpura	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
764	Within 6 Km from Manikpur chowk on NH106 towards pastpar	Madhepura	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
765	Within 2 Km from Gandaul Chowk towards Saharsa on Saharsa-Gandaul-Biraul road	Saharsa	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
766		Kishanganj	Regular	150	ОВС	СС	35	45	1575	25	10	Bidding	30	4
767	Within 5 Km from from College More, Sheikhpura towards Chewara on NH 333A	Sheikhpura	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
768	Within 2 Km from panchayat Bhawan Kolhyapatti,Dumariya on state highway connecting murligani to Biharigani	Madhepura	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
769	Within 3 Km from Lohiya chowk on NH327A on RHS while going from Lohiya Chowk towards Kishannur	Supaul	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
770	Between Khagaria to Maheshkhut from KM Stone 276 to 278 on NH 31.	Khagaria	Regular	150	ОВС	СС	35	45	1575	25	10	Bidding	30	4
771	Within 4 Km from jawahar Navodaya Vidalaya Supaul situated on NH327E towards pipra	Supaul	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
772	Within 5 Km from Barauni Zero Mile towards Raiendra Bridge on NH 31(LHS)	Begusarai	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
773	From Mansi Railway Station Chowk to Parmanandpur Dhala (LHS while going from Mansi to Parmanandpur Dhala) on NH 31	Khagaria	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
774	In between KM Stone number 93 and 101 on Ghorghat-Sultangani Road. on NH 80.	Bhagalpur	Regular	171	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
775	Within 2 to 6 Km from Chausa Block office On SH 58 towards Vijayghat	Madhepura	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
776	In between KM Stone number 106 and 113 on Sultangani-Akbar nagar Road, on NH 80	Bhagalpur	Regular	152	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
777	Between KM-Stone 177 and 184 on NH-57(RHS while going towards Bhimpur from Bhaptiyahi)	Supaul	Regular	170	OBC	сс	35	45	1575	25	10	Bidding	30	4
778	Within 5 Km from Udakishunganj Jail towards pastpar on NH106	Madhepura	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
779	Within municipal limit of Madhepura town Within 2 KM from Mali Chowk towards Pirnagra	Madhepura	Regular	140	Open	DC CFS	20	20	400	25	45	Draw of Lots	15	5
780	on NH 107 (RHS)	Khagaria	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
781	Between KM-Stone 194 and 197 on NH-57(LHS while going towards Narpatganj from Pratapganj)	Supaul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
782	Within 4 KM from Babaji ki Kuti (on NH107) towrads Saharsa Airport on Byepass Road	Saharsa	Regular	140	Open	DC	20	20	400	25	45	Draw of Lots	15	5
783	Between Mirjanhat chowk and Gorhatta chowk in Bhagalpur town.	Bhagalpur	Regular	120	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
784	In between KM Stone number 1 and 7 on Shermari Bajar Tiraha-Pyalapur road on NH133.	Bhagalpur	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
785	In between KM Stone number 2 and 6 on Sultangani-Asargani road on SH 22.	Bhagalpur	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
786	Between 3 & 7 km from Gerabadi Chowk towards Purnea on NH-31	Katihar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
787	Within 2 Km from Utkramit Madhyamik Vidyalaya, Rautara towards Katihar (RHS)	Katihar	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
788	Between KM-Stone 141 and 143 on NH-327E (On LHS while going towards Jadia from Bhargama)	Supaul	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
789	Between KM-Stone 247 and 252 on NH-57(RHS while going towards Araria from Dholbaiia)	Araria	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
790	From Mansi Railway Station Chowk to Parmanandpur Dhala (RHS while going from Mansi	Khagaria	Regular	150	Open	сс	35	45	1575	25	10	Bidding	30	5
791	to Parmanandour Dhala) on NH 31 Between Maheshkhut to Narayanpur from KM	Khagaria	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
792	Stone 293 to 297 on NH31 Within 2 km from Chargarhiya Chowk towards	Araria	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
793	Jokihat on NH-327E Within 3 KM from Khamhar Hanuman Mandir	Begusarai	Regular	100	Open	DC	35	35	1225		60	Draw of Lots		5
794	Chowk towards Manihaul on SH 55 Within 6 KMs from Mushrigharari chowk towards	Samastipur	Regular	120	SC	CFS	35	35	1225		0	Draw of Lots		3
795	Samastipur on SH-50 Within 3 KM from Cheriabariarpur Block Office	Begusarai	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
796	towards Manihaul on SH 55 Within 2 km from Harwa Chowk towards	Araria	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
797	Bahadurgani on NH-327E In between KM Stone number 345 and 350 on	Bhagalpur	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots		5
797	Naugchia-Kursela road on NH31. Between Kachahri chowk and Mirjanhat Chowk in	Bhagalpur	Regular	120	SC 1	CFS	20	20	400		0	Draw of Lots Draw of Lots		3
799	Bhagalour town. Between KM-Stone 205 and 207 on NH-57(RHS	Araria	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
800	while going towards Forbesganj from Bhimpur) Within 01 km either side from Mahanth Sthan	Bhagalpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	5
801	Chowk on NH 31 Between B.P. High School and Pangachhi (on	Begusarai	Regular	105	Open	СС	20	20	400		10	Bidding		5
802	Kalisthan Matihani Road) in Begusarai town Within 3 km, either side of Zenith Public School	Araria	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots		4
803	on Forbesgani Jogbani Road, NH-57A From Sanhaula chowk towards Dhoraiya on SH 84	Bhagalpur	Regular	120	SC	CFS	35	35	1225		0	Draw of Lots		3
803	within District Bhagalpur Within 1 km either side of Dayalpur Chowk(Near	Bhagalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Bihour) on NH31 Between KM-Stone 156 and 160 on NH-57(LHS													
805	while going towards Simrahi Bazar from Bhutha Chowk) Within 4 Kms from Sono Chowk towards	Supaul	Regular	150	Open	DC	35	45	1575		75	Draw of Lots		5
806	Chakai(On LHS while going from Sono to Chakai)	Jamui	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
807	Between Sarai Chowk and Narga chowk In Bhagalour Town.	Bhagalpur	Regular	117	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
808	Within 5 km from KM Stone No.156 towards Simrahi Bazar on NH-57(LHS)	Supaul	Regular	170	Open	СС	35	45	1575	25	10	Bidding	30	5
809	Within 4 km from Raniganj Market towards Kala Balua on SH 77	Araria	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

14 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					Estimated									Fixed Fee /	
19	SI. No	Name of location	Revenue District	Type of RO		Category	Type of Site*		nsion (in M.)/Are	a of the site (in		ranged by the	Mode of Selection	Minimum Bid	Security Deposit
March Marc			-												12
March March Personal March Perso	810	byepass at Dogachhi on byepass road.	Bhagalpur	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
10	811		Bhagalpur	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
Mary	812	· ,	Araria	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Part	813	Within 2 km from Taran Chowk towards Araria on	Araria	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
15	814	Within 2 Km from Ahmadpur High School,	Samastipur	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	815	Between KM-Stone 80 and 82 on SH 77(On													5
10															3
12 Part Pa													-		5
200 March 2004 Mar	818														4
Second Company Name	819	Within Municipal limits of Banka Town			100	Open	DC		20	400	25	45		15	5
March Marc	820		Begusarai	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
12. Separation Service Confidence and Confidenc	821		Samastipur	Regular	120	ОВС	сс	20	20	400	25	10	Bidding	30	4
19 19 19 19 19 19 19 19	822	Within 3 Kms on either side of Kakwara High	Banka	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Author Company Compa	823						DC					45		15	5
15 15 15 15 15 15 15 15	824					.,									4
1966 Microbio Associated Institute Control Theory Service of the Service of	825				100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
Separate Control 18 20 20 20 20 20 20 20 2	826	·												13	
Segretario Control C	827	•	Jamui	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Company Comp	828		SUPAUL	Regular	155	OBC	сс	35	45	1575	25	10	Bidding	30	4
13.5 White R for the Membrach Mode Sewers (pare) Amel Megaler 50 Open CC 3 5 4 1575 5 7 Ower data 5 5 1	829		Purnia	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
March Name From From From From From From From From	830	within 3 Kms from Khaira towards jamui													5
March Marc	831		Jamui	Regular	150	Open			45	1575		75	Draw of Lots	15	
March Sam Non Guidelland Colored School March Sam Non Sam	832	towards haveli kharagour	Munger	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
Amount of Missis Amount of M	833	Tikapatti Road on SH65	Purnia	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1985 1981	834		Purnia	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1982 Nette 2. Process - Signature - Si	835		Purnia	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
December Name Control	836		Purnia	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
Services Remiprator Chrowk & G.D. Genkha School Purma Regular 150 SC C5 S S L25 L2	837		Banka	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Regular 100	838	Between Ranipatra Chowk & G.D. Goenka School	Purnia	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Between Pail Chorw & Rohris Chrown on Zils School Developer	839	Between Rajkiya Ambedkar Awaasiya Uccha	Samastipur	Regular	135	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Within 3 km from Mahabur Chowk at Exlayropur	840	Between Jail Chowk & Khiru Chowk on Zila School	Purnia	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Sering (words: Distinguishers) on SH-88 Sering (words: Distinguishers) on Shift (see Shift) Sering (words: Distinguishers) S	841	Within 3 Km from Mahavir Chowk at Kalyanpur	Samastipur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Name				_											
Summest acoust Further Summest acoust Summest acoust Further Summest acoust Summ	842	SH-49	Samasupur	Regular											
Police Station on NH107 Within 3 Km from Kinhabihari parthmik Within 4 KM from Chaskishhari Pul, Towards Dubdhora on SH107 Within 5 Km from Chaskishhari Pul, Towards Tajpur (Diewe Station) Samastipur Pagular 100 Open CC 1 DC 20 20 20 400 25 45 Draw of Lots 15 5 Draw of Lots 15 4 Draw of Lots 15 Draw of	843	Purnea town	Purnia	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
SH-55 Samsstypur Regular 110 Open CC 35 35 1225 23 00 Oraw Of Lots 13 5 5	844	Police Station on NH107	Purnia	Regular		OBC							Draw of Lots		
Purme town Purme town Purm	845	SH-55	Samastipur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
Nowards Balsi on NH31RHS towards Silleum Negular 190 90 90 90 90 90 90 9	846	Purnea town	Purnia	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
NH107 (on Bypass road connecting Shippuri Dhala Saharsa Regular 105 08C DC 20 20 400 25 45 Draw of Lots 15 4	847	towards Baisi on NH31(RHS towards Siliguri)	Purnia	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Setween Chandan Chowk and Ginema Chowk on Samastipur Regular 115 Open CC 20 20 400 25 10 8idding 30 5 Samastipur 2 hot Station Road Samastipur 2 hot Station Road Samastipur Regular 160 Open CC 35 45 1575 25 10 8idding 30 5 Samastipur 2 hot Station Road Samastipur Regular 170 OBC OC 35 45 1575 25 10 8idding 30 5 Samastipur 2 hot Station Road Samastipur Regular 170 OBC OC 35 45 1575 25 75 Oraw of Lots 15 4 Samastipur 2 hot Station Road Samastipur 2 hot Station Road Samastipur 2 hot Station Road Samastipur Regular 160 Open OC 35 45 1575 0 O O Oraw of Lots 15 4 Samastipur Samastipur Samastipur Regular 160 Open OC 35 35 35 1225 25 50 Open Oraw of Lots Open Oc	848	NH107 (on Bypass road connecting Shivpuri Dhala	Saharsa	Regular	105	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
Samastipur - Pator Station Road Samastipur Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5	849	Between Chandan Chowk and Cinema Chowk on	Samastipur	Regular	115	Open	СС	20	20	400	25	10	Bidding	30	5
Chowk on NH - 28 Within 2 Km, either side of Madhya Vidalaya Saharsa Regular Sahatoura on NH107 Samastipur Regular Samastipur		Between Mushrighrari Chowk and Satanpur													
Regular 160 SC CFS 35 45 1575 0 0 0 Draw of Lots 15 4	851		·	_											
Murripani		Bhatpura on NH107 Within 3 Km from Krishnabihari prathmik		_											
Dudhoura on SH-88 Saliestipul Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5	852	Murligani	·	Regular											
Highway)	853	Dudhpura on SH -88		_		Open									
towards Supaul Supaul Regular Regular Supaul Regular Regular	854	Highway)	Samastipur	Regular	160	Open	CC	35	45	1575	25	10	Bidding	30	5
Within 8 Km from Pipra chowk on NH106 towards singheswar Within 4 Km from Chaklalshahi Pul towards Bakhtiyarpur - Tajpur Samastipur Regular 160 Open CC 35 45 1575 0 0 0 Draw of Lots 0 3 Season Samastipur - Regular 160 Open CC 35 45 Draw of Lots 15 4 Season Samastipur - Regular 160 Open CC 35 45 Draw of Lots 15 4 Season Samastipur - Regular 160 Open CC 36 45 Draw of Lots 15 4 Season Samastipur - Regular 160 Open CC 36 45 Draw of Lots 15 4 Season S	855	Within 6 KM from Pipra chowk on NH327E	Supaul	Regular	160	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
Within 4 Km from Chaklalshahi Pul towards Bakhtiyarpur on New Bakhtiyarpur - Tajpur Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 1 KM from Khaatushyam Mandir towards Jitwarpur on Samastipur - Rosra Bypass Road Samastipur - Rosra Bypass Road Samastipur - Regular 120 Open CC 20 20 400 25 10 Bidding 30 5 Within municipal limit of Supaul town Supaul Regular 140 OBC DC 20 20 400 25 45 Draw of Lots 15 4 Within municipal limit of Saharsa town Saharsa Regular 140 SC CFS 20 20 400 0 0 Draw of Lots 10 3 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 2 Km from Mirchaibari Durga Sthan chowk Vatiliar Regular 180 OBC DC 20 20 400 25 75 Oraw of Lots 15 4	856	Within 8 Km from Pipra chowk on NH106 towards	Supaul	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Within 1 KM from Khaatushyam Mandir towards Jitwarpur on Samastipur - Rosra Bypass Road Samastipur - Regular 120 Open CC 20 20 400 25 10 Bidding 30 5 Within municipal limit of Supaul town Supaul town Supaul Regular 140 OBC DC 20 20 400 25 45 Draw of Lots 15 4 Within municipal limit of Saharsa town Saharsa town Saharsa Regular 140 SC CFS 20 20 400 0 0 Draw of Lots 0 3 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 2 Km from Mirchaibari Durga Sthan chowk (atihar Regular 180 OBC DC 20 20 400 25 75 Oraw of Lots 15 4	857	Within 4 Km from Chaklalshahi Pul towards Bakhtiyarpu on New Bakhtiyarpur - Tajpur	Samastipur	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
Within municipal limit of supaul town Supaul Regular 140 OBC DC 20 20 400 25 45 Draw of Lots 15 4 Within municipal limit of Saharsa town Saharsa Regular 140 SC CFS 20 20 400 0 0 Draw of Lots 0 3 Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 Draw of Lots 15 4 Within 2 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Within 2 km from Mirchaibari Durga Sthan chowk (atihar Regular 180 OBC DC 20 20 400 25 75 Oraw of Lots 15 4	858	Within 1 KM from Khaatushyam Mandir towards	Samastipur	Regular	120	Open	сс	20	20	400	25	10	Bidding	30	5
Within 4 Km from Ganga Bridge Towards Tajpur (on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Open CC 35 45 1575 25 10 Bidding 30 5 Within 2km from Mirchaibari Durga Sthan chowk (atihar Regular 180 OBC DC 20 20 400 25 75 Oraw of Lots 15 4	859		Supaul	Regular	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
(on New Bakhtiyarpur - Tajpur National Hightway) Samastipur Regular 160 Upen CC 35 45 15/5 25 10 Bidding 30 5 16/2 Within 2km from Mirchalbari Durga Sthan chowk Katihar Regular 180 OBC DC 20 20 400 25 75 Draw of Lots 15 4	860	Within municipal limit of Saharsa town			140	SC	CFS	20	20	400	0	0		0	3
	861		Samastipur	Regular	160	Open	сс	35	45	1575	25	10	Bidding	30	5
	862		Katihar	Regular	180	OBC	DC	20	20	400	25	75	Draw of Lots	15	4

			1	Estimated	1		1					1	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
863 864	Samastipur, Within Municipal Limit Rosera, Within Municipal Limit	Samastipur Samastipur	Regular Regular	120 120	Open Open	CC	20	20	400 400	25 25	10	Bidding Bidding	30	5
865	From Hajipur Masjid to Kolasi More on NH81	Katihar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
866	From Kheria Aadarsh Madhya Vidhyalaya to Charkhi More on NH81	Katihar	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
867	FROM SIMRAHI TO BHAPTIYAHI (RHS) ON NH 57	SUPAUL	Regular	170	Open	сс	35	45	1575	25	10	Bidding	30	5
868	KHAGARIA TOWN (Within Municipal Limit)	Khagaria	Regular	150	Open	СС	20	20	400	25	10	Bidding	30	5
869	Within 4 km from Gerabadi chowk towards Katihar	Katihar	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
870	Within 1km from Sahid Chowk in Katihar town	Katihar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
871	Within 3 KM from Lohiya Chowk on SH-66 towards	SUPAUL	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
872	Hardi Within 2 km From Chandpur Chowk towards	Katihar	Regular	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
	Teldhiva on SH 65 Between Mania Railway Crossing and Bastol		_											-
873	Chowk	Katihar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
874	Within 8 km from Bastol chowk towards Pranpur	Katihar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
0.75	On shortest Road connecting Circuit house and Tilakdhari Collegiate Ucha Madhyamik Vidyalaya,	C	Daniel -	440	0	DC.	20	20	400	25	45	D £1 - ±-	45	5
875	passing through Golden Public School at Supaul	Supaul	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
876	Within 3 KM from Rosra Market Railway Crossing	Samastipur	Regular	155	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	towarda Begusarai on SH-55 Within 6 km from Maulanapur Chowk towards	Katihar	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Balrampur on SH 98 Within 1 km on either side of Barsoi Bank chowk		-											-
878	on SH 98	Katihar	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
879	Between KM Stone 275 & 278 on NH-57(LHS while going towards Kushiyargaon from Araria)	Araria	Regular	155	Open	сс	35	45	1575	25	10	Bidding	30	5
	On NH80 Byepass between SH19 & SH25					 				 		†		
880	overbridge(RHS while going from SH19 overbridge to SH25 overbridge)	Bhagalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
881	Within 3 km from Dalkola Katihar More towrads	Katihar	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Purnea on LHS Within 2 KM from Naugachhiya Zero Mile on		-			 				 				\vdash
882	Vikramshila Setu approach Road(RHS while going	Bhagalpur	Regular	232	Open	сс	20	20	400	25	10	Bidding	30	5
	to Vikramshila Setu from Naugachhiya Zero Mile)													
883	Between 4 & 7 km from Falka Chowk towards Sarsi	Katihar	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
884	Between 1 & 6 km from Kursela Chowk towards Naugachia on NH-31	Katihar	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
885	Within 3 km from Kursela Chowk towards Pothia	Katihar	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
886	Within 8 Kms from Sikandra purani chowk towards	Jamui	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
887	Jamui (Jamui - Sikandra Road) Within 1 km from Durga Mandir Chowk towards	Katihar	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Chandrama Chowk in Katihar town Within 3km from Naya tola towards Katihar -	Katihar		100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
000	Manihari Road	Katillal	Regular	100	ОВС	ьс	20	20	400	25	45	DIAW OI LOIS	15	4
889	Within 3 km from Teengachia Chowk towards New Bus stand through Marketing yard in Katihar town	Katihar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
890	Between Bhamraily Chowk to Govind Chowk on SH	Katihar	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	98 Within 3 km from Goshala Railway Gumti towards		-			DC								4
891	Manihari on NH 131A Between 3 & 5 km from Bhasna Chowk towards	Katihar	Regular	150	OBC		35	45	1575	25	75	Draw of Lots	15	
892	Purnea	Katihar	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
893	Within 3 km from Amdabad Chowk towards Manihari	Katihar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
894	Within 2 km from Diwandih Chowk towards Gerabadi on NH31(RHS)	Katihar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
895	Between Imli Gola & BSEB Office in Kishanganj	Kishanganj	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
896	town Between 3 & 5 km from LRP Chowk towards	Kishanganj	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
897	Thakurgani Between LRP Chowk and Jhansi Chowk in			100		DC	20	20	400	25	45	Draw of Lots		5
	Kishangani town Between Halim Chowk to Madarsa Darul Uloom	Kishanganj	Regular		Open									
898	Amjadya in Kishangani town	Kishanganj	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots		5
899	Within 5 KMs from Bahadurganj More(Gumti No.3) towards Dalkola on RHS	Kishanganj	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
900	Between 3 & 5 km from Mahadeodighi Chowk towards Jokihat on LHS	Kishanganj	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
901	Within 2 km from Jirangachh Idgah towards Thakurganj on NH 327E	Kishanganj	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
902	Within 5 km from Petrol Pump Chowk Thakurganj	Kishanganj	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
903	towards Siliguri Within 3 KM from Hanuman Mandir Saraiya	Khagaria	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	towards Sonbarsha Ghat on NH 107 (RHS)	-0	00101							-	-			-
904	In between KM Stone number 160 and 162 on Kahalgaon - Pirpainti road on NH 80 (LHS while	Bhagalpur	Regular	171	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	going from Kahalgaon towards Pirpainti													
905	Between KM-Stone 195 and 197 on NH-57(RHS while going towards Narpatganj from Pratapganj)	Supaul	Regular	165	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
												1		
906	Between KM-Stone 137 and 141 on NH-57(LHS while going towards Bhaptiyahi from Darbhanga)	Supaul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
907	Within 3 Km from Kishan Chowk towards Simrahi	Supaul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Bazar on NH 106 Between Simrahi Gol Chowk and Ganpatganj					DC	35			25	75			5
908	Market on NH 106	Supaul	Regular	160	Open	טנ	35	45	1575	25	/5	Draw of Lots	15	٦
909	Between KM-Stone 178 and 180 on NH-57(LHS while going towards Pratapganj from Bhaptiyahi)	Supaul	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
910	Within 12 km from Bhimpur Thana Chowk towards	Supaul	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
	Chhatapur on SH 91 Between Chhatapur Market and Hariharpur on SH													
911	91	Supaul	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots		5
912	Between KM-Stone 47 and 50 on SH 91(On Chhatapur-Jadia Road)	Supaul	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
913	Between Godhi Chowk and Kali Mandir Chowk on Araria Zero Mile-Godhi Road in Araria town	Araria	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
	Araria Zero iville-Godni Koad in Araria town	<u> </u>				1				1	l	1		

				Estimated									Short See (
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	oq. m.j.	8		9а	9b	10	11	12
914	Within 3 km from Khajuri Bazar chowk towards Bhargama on NH 327E	Araria	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
915	Within 5 km from Jhigali Chowk towards Forbesgani on NH 57(LHS)	Araria	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
916	In between KM Stone number 310 and 316 on	Bhagalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
917		Araria	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
918		Banka	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
919	Within 3 Kms from Chandan Block office towards Katoria (On Deogarh-Banka Road)	Banka	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
920	within 4 Kms From Kaighosa Chowk towards	Banka	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
921	within 8 Kms from Mahisari chowk towards	Jamui	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
922	sikandra(Jamui-Sikandra Road) Within 1 KM on either side of Anya	Jamui	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Resort(Simultala) on NH-333A Within 2 Kms from sikandra Chowk towards													
923	Lakhisarai (On Nawada-Sikandra-Lakisarai road)	Jamui	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
924	Within 8 Kms from katoria block office towards	Munger	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
925	Banka (On Banka- Deogarh Road)	Banka	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
926	Within 8 kms from khaira chowk towards sono	Jamui	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
927	Within 5 Kms frm Jawahar Navodaya Vidyalay,	Munger	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Havelikharagpur towards gangta on NH - 333 Within 5 Kms either side of Bajrangbali Chowk(on				_									
928	SH-22, Sultangani Deogarh Road)	Banka	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
929	Ghat on SH-88	Samastipur	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
930	Within 3 KM from Daini Chowk, Towards Khajuri Chowk on SH-88	Samastipur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
931	Within 5 KM from Jattadih Chowk, Towards Daini Chowk on SH -88	Samastipur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
932	Retween Aadharnur Masiid and Subhash Chowk	Samastipur	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
933	Between Singhia Ghat Chowk and Shankar Chowk	Samastipur	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
934	Retween Shankar Chowk and Angar Ghat Chowk	Samastipur	Regular	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
935	Between Toofan Chowk and Mordiba Government	Samastipur	Regular	110	Open PH	DC	35	35	1225	25	60	Draw of Lots	15	5
936	Hospital on SH-55 Retween Richannur Chowk and litwarnur Block	Samastipur	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Office on SH - 55 Between Ganganur Chowk and Tainur Cold		_	160	OBC	DC	35	45	1575	25	75		15	4
937	Storage Chowk on NH -28	Samastipur	Regular	100	UBC	ьс	33	45	13/3	25	/5	Draw of Lots	15	4
938	Between Tajpur Coldstorage Chowk and Bangra Thana Police Station Building on NH-28	Samastipur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
939	Within 6 KM from Bagmati River Road Bridge,	Samastipur	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
940	Towards Kalvanpur on SH - 50 Between Shankar Chowk and Basedia Chowk on	Samastipur	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
941	NH-28 Between Singhia Ghat Railwaay Crossing and	Samastipur	Regular	160	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Botween Chaklal Sahi Chowk and Pansalwa Chowk			160		DC	35	45	1575	25	75		15	5
942	on NH - 322 Retween Varuna Pul and Gandhi Chowk on NH -	Samastipur	Regular		Open							Draw of Lots		
943	322 Between Gandhi Chowk and Bhagwatpur Chowk	Samastipur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
944	on NH - 322	Samastipur	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
945	Between Bhagwatpur Chowk and Mushrighrari Chowk on NH - 322	Samastipur	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
946	Within 2 Km from Old Kothiya Pool towards Tajpur on SH 49	Samastipur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
947	Wihtin 5 KM from BRB College Samastipur, Towards Mushrighrari on SH -50	Samastipur	Regular	120	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
948	Within 5 KM from Baluwahi Pokhar Kasbe Aahar, Towards Chaklal Sahi(on New Tajpur -	Samastipur	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Bakhtiyanur National Highway) Wihtin 4 Km from Nandini Laguniya Railway													-
949	station, Towards Tajpur (On New Bakhtiyarpur -	Samastipur	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Tainur National Highway) Wihtin 4 Km from Nandini Laguniya Railway				_	<u> </u>							t	
950	Bakhtivarnur - Tainur National Highway)	Samastipur	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
951	Within 4 km from Bajrang Chwok Mandir, Towards Bachwara on SH 93	Samastipur	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
952	Within 4 Km from Pairang Choult Mandir, Towards	Samastipur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
953	Returnen Daini Chaudrand Cumti no 22 (an Daini	Samastipur	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
054	Retween Dalsingsarai Chowk and Gumti No 32 (on	Competinue	Dogul	120	s.c	CEC	20	20	400			Draw of !		
954	Dalsingsarai Chowk - Gumti No 32 main Road)	Samastipur	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
955	Towards Barauni on RB College road.	Samastipur	Regular	120	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
956	Within 5 KM from Gumti No 32, Towards Singhiaghat on SH - 88	Samastipur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
957	Within 5 Km from Mahavir Chowk Singhia	Samastipur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
958	Within 4 Km from Khajuri Chowk, Towards Varuna	Samastipur	Regular	120	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
959	Withing 3 Km from Varuna Pool, Towards Khajuri	Samastipur	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
960	Chowk on SH - 88 Within 3 KM from Khajuri Chowk, Towards Daini	Samastipur	Regular	120	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
961	Chowk on SH-88	Samastipur	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
962	Witin 2 KM from Valvannur Chowk towards	Samastipur	Regular	120	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
963	Within 2 Km from Samastipur Collectorate Office	Samastipur	Regular	120	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
964	in Samastipur town Araria town(Within Minicipal Limit)	Araria	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
965	Within 5 Kms from Bhagwanpur Chowk towards Mansurchak	Begusarai	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
966	Between Subash Chowk and Begusarai Bus Stand ON Nh-31	Begusarai	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
967	Within 5 Km from Barauni Zero Mile towards	Begusarai	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Raiendra Bridge on NH 31(RHS)		I	l	I	L	1	i		i	i	1	1	

				Estimated		<u> </u>						1	Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be an applicant		Mode of Selection	Minimum Bid amount	Security Deposit
968	2 Within 5 Kms from Udaikishanganj Chowk on Nh	3 Madhepura	4 Regular	150	6 Open	7 DC	35	8 45	1575	9a 25	9b 75	Draw of Lots	15	5
969	106 towards fulaut In between KM Stone number 336 and 345 on	Bhagalpur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
970	Naugchia-Kursela road on NH31. Within 3 Km From Lakhminia Railway Station	Begusarai	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Towards Begusarai Within 4 KM from Belhar Police Station towards	-												
971	katoria on SH-22 (On Sultanganj-Deoghar road)	BANKA	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
972	Within 5 Km from Bariahi chowk on NH 107 towards balwahat	Saharsa	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
973	Between 6 to 8 KM from Panjwara chowk towards Dhoraiva on SH 84	BANKA	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
974	WITHIN 2 KM FROM BAIJNATHPUR CHOWK TOWARDS SAHARSA, ON NH 107	Saharsa	Regular	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
975	Within 2KM from main gate of central jail, Jamui (on Jamui Lakhisarai Road)	Jamui	Regular	150	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
370	Within 4KM from Ghorghat Belly bridge towards Munger on NH-333B	Munger	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
9//	Within 5 KMs from Jhamatia dhalla towards Dalsinghsarai on NH-28	Begusarai	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
978	Within 2 km from Gulabbagh zero mile towards Purnea town	Purnia	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
979	Between Ford Company Chowk & Katihar More in Purnea town (LHS while going from Ford Company	Purnia	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
980	Chowk to Katihar More) Within 2 KM from Bhasna Chowk towards Katihar	Katihar	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
981	on NH131 (A) Between KM Stone 290 and 293 on NH57(LHS	Purnia	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
982	while going from Araria towards Purnea) Within 2 KM from Banbhagh chowk towards Sarsi	Purnia	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	on NH107 Within 5 KM from KM Stone No.156 towards	SUPAUL	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
984	Simrahi Bazar on NH-57(RHS) Between Karzain Bazar Chowk and Fakirna Chowk	SUPAUL	Regular	155	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
985	on NH-106 Within 6 km from Chhatapur towards Girdharpatti	SUPAUL	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
986	(on SH92) Mauza Partapur on Belsand - Runnisaidpur PWD	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Road, Block- Belsund Within 1 Km from Utkarmit Madhya Vidhayalay	CUMAN				DC	25	25	1225	42	20		-	2
987	Chari towards Tarwara and Ladhii, Block- Barharia	SIWAN	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
988	Within 1 km from Newari More towards Raghunathour, Block-Raghunathour	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
989	Within 1 km from Railway Crossing ((07C)/(T-2)) Towards Bagauch on Sasamusa Bagauch Road,	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
990	Block- Sasamusa Nankhar, on Nankhar- Gorkha Road, Block-	Darbhanga	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
991	Alinagar Within 2 KM from Bairiya Chowk towards Aurai on	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
992	Aurai - Jale Raod. Block- Aurai Mustafapur on Amithi- Nehra Road, Block- Benipur	Darbhanga	Rural	46	sc	CFS	35	35	1225		0	Draw of Lots	0	2
993	Bhagwanpur on Dighwa- Dubauli road, Block-	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
994	Bhagwanpur Within 2 kms from Sutihar T POint on Sutihar-	Saran	Rural	46	Open	DC	35	35	1225		30	Draw of Lots	5	4
	Parsa Road., Block- Dariyapur Within 2 Kms from Barhampur Chowk (on NH- 57)						0.5	0.5	1005				_	
995	towards Ghoghardiha on Barhampur- Ghoghardiha Road Block- Ghoghardiha	Madhubani	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
996	Within 1 km from Koyladeva SBI Branch towards Ramjeesingh B.Ed College (Mouza-Siyraha), Block-	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
997	Bijaipur Within 1 Km from Primary School, Maksudpur	GOPALGANJ	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
998	towards Sasamusa. Block- Kuchaikote From Balia Chowk to Rajkiya Utkramit Middle	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
999	School, Jagdishpur Kamtaul, Block- Kurhani From Turki Mela Chowk to Manaria Chowk	MUZAFFARPUR	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1000	towards Saraiva. Block- Kurhani Mauza Raipur on Raipur Bazar to Banaul Road,	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1001	Block- Nanpur Within 1 km from Mahwal Railway Crossing	MUZAFFARPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
4002	towards NH- 28. Block- Motipur Between Main Gate of Agriculture College Dholi to	AALIZAEEADDUD	D	46	onc	DC	25	25	1225	42	20	Deflete	-	2
1002	Muzaffarpur Border on Pusha Road, Block- Muraul	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1003	Within 1 km from Rajkiya Uttakramit Vidyalaya Fatehpur, Mushahari , Block- Mushahri	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1004	Basatpur on Shomgarh to Chakia Road, Block-	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1005	Sahebgani Barahima on Barahima to Hasanpur road., Block-	GOPALGANJ	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1006	Sidhwalia Within 2KM from Lohijra Chowk, Block- Sidhwalia	GOPALGANJ	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1007	Bathay on Jhanjharpur- Bahera Road, Block- Tardih	Darbhanga	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2 KM from Madhyamik Vidyalaya Chakwa	_		46		DC.	35	35		12	30		5	4
1008	towards Rosera on Chakwa- Rosera Road, Block- Havaghat Within 1 km from Paikiya Brathmik Vidyalaya	Darbhanga	Rural	46	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	+
1009	Within 1 km from Rajkiya Prathmik Vidyalaya, Munni towards Saidpur on Hanuman Nagar to	MUZAFFARPUR	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1010	Saidour Road, Block- Aurai Hatni on Ghoghardiha- Harari Road, Block-	Madhubani	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Ghoghardiha Within 1 KM from Binwilia more towards Hardia													
1011	Chowk on Dhum Nagar Road., Block- Narkativagani	CHAMPARAN - WEST	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1012	Between Marzadpur Chowk to Buniad Pul on Done Canal Road Block- Bagha 2	CHAMPARAN - WEST	Rural	72	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1013	Between Khuti Nadi Pul to Jura Pul, Block- Bagha 1	CHAMPARAN - WEST	Rural	72	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1014	Within 1 KM from R.K. Brother Chimeny on Inerwa- Mainatand Road towards Triveni Canal., Block-	CHAMPARAN - WEST	Rural	63	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1015	Mainatand Within 1 KM from milestone Lauriya 6.7 KM on						0.5	0.5	1005					
1015	Katholiya-Lauriya Road towards Lauriya, Block- Channativa	CHAMPARAN - WEST	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1016	Between Milestone 8 KM Balther to 7 KM Balther Milestone towards Balther on Bettiah-Balther	CHAMPARAN - WEST	Rural	75	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
<u> </u>	Road, Block-Sikta	<u> </u>		l	l	<u> </u>	l	l		<u> </u>		<u> </u>	l	L

				Estimated		1							Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Area	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8	- I	9a	9b	10	11	12
1017	Within 1 Km from Utkramit Madhya Vidyalaya ,Matiyar towards Raghunathpur , Block- Manjhi	Saran	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1018	Within 3 Km from Gadhdevi Maa Mandir ,Patera towrads khaira on Khaira-Marhowrah Road, Block-Nagra	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1019	Within 2 Km from Utkramit Madhya Vidyalaya ,Amar Chapra , Block- Sadar Chapra	Saran	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1020	Within 3 Km from end of Ara-Chhapra Bridge towards Chapra, Block-Sadar Chapra	Saran	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1021	Within 2 Km from Bhakhura Bitti chowk towards Shivganj on Bhakhura bitti -shivganj Road, Block- Marhowrah	Saran	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1022	Within 2 km from Satyakla ITI on Jalalpur-OBasdila Path, Block-JALAlpur	Saran	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1023	Within 4 Km from Hanuman Mandir ,Bangra on Chetan Chhapra- Nagra Road, Block- Baniyapur	Saran	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1024	Within 1 Km from Madhya Vidyalaya Kashimpur towards tehti Bazaar, Block- Amnour	Saran	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1025	Wihin 5 Km from Mount view school on Bhakhura bhitti and Parsa Road , Block- Amnour	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1026	Within 6 Km from Hanuman Mandir towards satjora on Lakhanpur-Panapur Road , Block- Panapur	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1027	Within 4 Km from Prathmik Madhya Vidyalaya ,Suhai Gajan, Block- Baniapur	Saran	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1028	Within 1 Km from Hanuman Mandir ,Khojauli towards suithar, Block- Dariyapur	Saran	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1029	With 2 Km from Shiv Mandir ,Sasna on Shahjitpur- ekma Road, Block- Lahladpur	Saran	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1030	Within 2 km from Ram-Janki mandir on Nagra- Patera Road . Block- Nagra	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1031	Within1 Km from Prathmik Vidyalaya,Barwe towards Sonpur on Sonpur -Parsa Road, Block- Dariyanur	Saran	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1032	Within 2 km from Utkramit Madhya Vidyalaya .Sahosrai Block- Garkha	Saran	Rural	46	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1033	Within 1 KM from Birdipur Chowk on Bishanpur- Attarvel Road. Block- Singhwara	Darbhanga	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1034	Within 3 KM from Kamtoul Railway Station on Kamtoul to Bharawara Road. Block- Jalev	Darbhanga	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1035	Within 2 km from Bahadurpur Railway crossing towards Baheri on Singhia to Darbhanga Road, Block-Bahadurpur	Darbhanga	Rural	60	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
1036	Block- Bahadurour	Darbhanga	Rural	46	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
1037	Between Barra Village and Dodia Bridge, Kusheshwar, Block- Kusheshwar Asthan	Darbhanga	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1038	Within 2 km from Ranti chowk on PWD Road (Ranti Chowk to Rajnagar Road), Block- Rajnagar	Madhubani	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1039	Within 3 km from Kamepatti High school, on Jaynagar- Khutauna Road, Block- Jainagar	Madhubani	Rural	55	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1040	Within 3 km From Phulparas Post office towards Nanaur, on Phulparas-Ghoghardiha road, Block- Ghoghariha	Madhubani	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1041	Within 2km from Laukhi Health Centre on Laukahi- Anaharamath-Dharhara Road, Block- Laukhi	Madhubani	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1042	Within 2 km from Nidhi Chowk on Sakri Madhubani Road, Block- Pandaul	Madhubani	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1043	Within 3km from H.P.S college on Madhepur- Bhagwanpur Road, Block- Madhepur	Madhubani	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1044	Within 2 km Karmauli Chowk ,towards Khajouli on Karmouli Khajouli Road, Block- Khajauli	Madhubani	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1045	Within 1km from Shiv Mandir Madhopur on Mdhopur - Kamtaul Road, Block- Bisfi	Madhubani	Rural	60	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1046	Within 2 km from Simari post office towards Parsauni on Simari to Parsauni Road, Block- Bisfi	Madhubani	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1047	Within 5 km from shahid Chowk towards Khajauli ,on Jaynagar Khajauli Road, Block- Jainagar	Madhubani	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1048	Between Village Dullipatti and Village Kuar on Dullipatti-Khaiauli Road. Block- Khaiauli	Madhubani	Rural	60	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1049	Within 2km from Hardev Banaras Janta College, Khajauli on Khajauli -Kaluwahi Road (not on NH/SH). Block- khajauli	Madhubani	Rural	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1050	Between Shankar Shariya chowk to kolpur chowk on Turkauliya Piprkothi Road, Block- Turkoliya	CHAMPARAN - EAST	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1051	Between Mehsi and Bansghat on Mehsi Sahebganj Road, Block-Kalvanpur	CHAMPARAN - EAST	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1052	Between Kalyanpur to Rajpur Chowk, Block- Kalvanpur	CHAMPARAN - EAST	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1053	Between Banarjhula to chorma chowk, Block- Pakridaval	CHAMPARAN - EAST	Rural	48	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1054	Within 1 KM from jalalpur railway station towards Kuchaikote, Block- Kuchaikote Rotugon, Jalalpur and Kuchaikote on Jalalpur	GOPALGANJ	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1055	Between Jalalpur and Kuchaikote on Jalalpur Kuchaikote road via Siswa, Block- Kuchaikote Between Madheshiya Market to Badheya on	GOPALGANJ	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1056	Sadua Sarfar Road, Block- Barauli	GOPALGANJ	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1057	Between Dharmbari more to Digwa Dubauli on Hardia Naviganj Digwa road, Block- Baikunthpur Within 1 KM from primary school marwa towards	GOPALGANJ	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1058	Rajapatti on Sattar Ghat Rajapatti Road, Block- Baikunthour	GOPALGANJ	Rural	48	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1059	Within 1 KM from milestone no 1 towards jadopur bajar on gopalganj betiah road, Block-Gopalganj	GOPALGANJ	Rural	48	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1060	Between Sonwaliya bandh dhala to Gamhari middle school on chiutanha rajapatti road, Block- Baikunthour	GOPALGANJ	Rural	48	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4

1 1061 Withi	e of location	Revenue District		Estimated monthly Sales			Minimum Dime	nsion (in M \/Are:	of the cite (in	Finance to be as			Fixed Fee / Minimum Bid	
1061 Withi			Type of RO	Potential #	Category	Type of Site*	Sq. M.). *	noidir (iir iii.)ir a di	or the site (iii	applicant	rranged by the	Mode of Selection	amount	Security Deposit
Kotwo	2 hin 2 KM from Turkaulia Chowk on Turkauliya	3 CHAMPARAN - EAST	4 Rural	46	6 OBC	7 DC	35	8 35	1225	9a 12	9b 30	Draw of Lots	11	12
Withi 1062 Motif	wa Road. Block-Turkaulia hin 2 KM from Phulwar High School on tihari- Phulwar-Anhara Road towards Anhara, rk- Banjariya	CHAMPARAN - EAST		46	Open	DC	35	35	1225		30	Draw of Lots	5	4
1063 Withi	hin a radius of 2 KM from Semra Chowk on raiya-Shikarganj Road , Block- Chairaiya	CHAMPARAN - EAST	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1064 Sugar Patah	apipar Village in Gunahi Panchayat, Block- ahi	CHAMPARAN - EAST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1065 Bilasp	hin 2 KM from Saunaha chowk on Saunaha- spur-Ramgadhwa road towards Ramgadhwa, rk- Raxaul	CHAMPARAN - EAST	Rural	65	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1066 Mina	hin 2.5 KM from Madhuban Malang chowk in appur-Muzaffarpur Road towards Muzaffarpur, :k- Madhuban	CHAMPARAN - EAST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1067 Ramg	hin 2 KM from Piparpati Pool towards ngadhwa on Piparpati Ghat to Ramgadhwa d (Not on NH/SH), Block- Ramgadhwa	CHAMPARAN - EAST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Withi 1068 Raxau	hin 2 KM from Mardhar Pul on Chhodadano-	CHAMPARAN - EAST	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
Adapı	hin radius of 1.5 KM from Bangri Chowk on pur-Champapur-Narirgir Chowk, Block- Adapur	CHAMPARAN - EAST	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	hin 3 KM from Chhatauni-Madhubani Ghat ridaval Road. Block- Motihari	CHAMPARAN - EAST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Patah	ahi Road towards Patahi., Block- Patahi	CHAMPARAN - EAST	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
Road	d towards Kanti. Block- Motipur	MUZAFFARPUR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	hin 2 KM from High School, Ratanpur on Kanti- tipur Road, Block- Kanti	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1074 Mahn	nna Road towards Motipur, Block- Motipur	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1075 Sahet Paroo	20	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1076 Motip	hin 2 KM from Rajepur Chowk on Sahebganj tipur Road towards Sahebganj, Block- ebgani	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
Deori	hin 3 KM from Badkagaon Chowk towards ria on Muzaffarpur - Deoria Road, Block- Paroo hin 5 KM from Deoria Chowk on Deoria -	MUZAFFARPUR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1078 Muza Paroo	zaffarpur Road towards Muzaffarpur, Block- oo	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Chow	ween Dholi Railway Crossing and Jahangirpur wk on Sabha Chowk - Pusa Road, Block- Sakra ween Kacchi Pakki Chowk and Susta-Madhopur	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1080 Chow		MUZAFFARPUR	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1081 Withi Muza	hin 2 KM from Dwarikanagar Chowk on	MUZAFFARPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
Panar	apur Road. Block- Kanti	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Numb	hin 1 KM from Dubaha Railway Crossing nber 72 towards Pusa. Block- Sakara hin 1 KM from "Morsandi '0'" KM Stone	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1084 towar Pakki	ards Kodariya Bridge on Morsandi Grameen ki Road, Block- Motiour	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
bandi	dh , Block- Kanti	MUZAFFARPUR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Mina	apur	MUZAFFARPUR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Block	uza- Pilkhi Gajpatti on Muzaffarpur Pusa Road, ck- Muraul thin 2 km from Ambara Chowk towards	MUZAFFARPUR	Rural	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1088 Jaffar Sarai	arpur on Jaffarpur Ambara Chowk, Block- aiva	MUZAFFARPUR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1089 School	hin 2 km from Madhya Vidyalaya Tarajiwar ool towards Bhawanipur Chowk, Mauza- amjivar Tarajivar , Block- Aurai	MUZAFFARPUR	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1090 towar Block	k- Marwan	MUZAFFARPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
	uza- Goraul on Goraul Sondho Mathnamal d. Block- Garaul	MUZAFFARPUR	Rural	60	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1092 Withi Amba	hin 2 km from Chhap Middle School towards bara Chowk, Mauza- Chhap, Block- Paroo	MUZAFFARPUR	Rural	72	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Block	ck- Minapur	MUZAFFARPUR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Block-	ck- Paroo	MUZAFFARPUR	Rural	48	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
Block	ck- Tarivani	Sheohar	Rural	46	OBC	DC	35	35	1225		30	Draw of Lots	5	3
Block	:k- Belsund	Sitamarhi		46	Open	DC	35	35	1225		30	Draw of Lots	5	4
Road.	d. Block- Parihar	Sitamarhi	Rural	46	Open CC 1	DC	35	35	1225		30	Draw of Lots	5	4
Sonba	barsa PWD Road, Block- Sonbarsa	Sitamarhi	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1099 Baba	hin 1.5 km from Rajkiya Madhya Vidyalaya a Dham (Nautan More) towards Nautan on irawa-Nautan Road, Block- Mairawa	SIWAN	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1100 Mauz Nanp	uza Dadri (On Gaura - Bela Road), Block-	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
Withi 1101 Khair	hin 3 km from Janki Mandir Chowk towards	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1102 Withi	hin Olym from Dhaux Dagar towards Aurai on	Sitamarhi	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1103 Mira	a Tola on Mira Tola - Kanrinur road - Block	GOPALGANJ	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
LIVIII C	rza Lahuria (Parwaha - Lalhandi Road) Rlock-	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category 6	Type of Site*	Minimum Dime Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant 9a	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1105	Mauza Rasalpur on Rasalpur Bajpatti Road, Block- Bajpatti	Sitamarhi	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1106	Mauza Budhnagra on Bhaur - Chakauti Road, Block-	Sitamarhi	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1107	Bokhra Within 1 km from Milestone(=Hathua 2 km) on either side on Hathua -Koyladeva Road, Block- Hathua	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1108	Within 2 km from Milestone No- 3 (=Siwan 3 km, EXCLUDING Siwan Municipal Area) towards Siwan on Siwan Andar Main Road, Block- Hussainganj	SIWAN	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1109	Jafartola on Jafartola- Jamo Road, Block- Jafartola	GOPALGANJ	Rural	46	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
1110	Within 1 km from Pratappur Bridge towards Machakana(Mouza-Habibnagar), Block- Hussaingani	SIWAN	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1111	Within 1 km from Shripur O.P.Thana towards Bagahi Bazar on Shripur - Bagahi Road, Block- Kateva	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1112	Within 2 KM from Chitauli Chowk on Goriakothi to Afradmore Road, Block- Goriakothi	SIWAN	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1113	Within 2 km from Uttakramit Madhya Vidyalaya Singaha towards Hathua on Hathua-Angauta Road. Block- Mirgani	GOPALGANJ	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1114	Within 1 km from Ashandapur Chauraha towards Bathua Bazar, Block- Uchakagaon	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1115	Within 1 km from Jagdishpur Middle School towards Bijaipur on Dhushawa-Bijaipur Road (Mouza-lagdishpur), Block-Bijaipur	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1116	Within 1 km from Milestone No(=Kalyanpur"0' km) towards Bagahi Bazar on Bathua-Bagahi Bazar Road, Block-Bhore	GOPALGANJ	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1117	Within 2 km from Referal Hospital Kateya towards Rasauti, Block- Kateya Within 1 km from Middle School Baikunthpur	GOPALGANJ	Rural	46	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1118	towards Kateya on Bhore - Kateya Main Road, Block- Kateva	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1119	Witnin 2 KM from Maripur Bridge towards Mirganj on Mirganj - Samour Road, Block- Phulwariya	GOPALGANJ	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1120	Within 5 to 8 km from Mahadeva OP Thana Main Gate towardfs Lakari on Mahadeva -Lakari Road, Block- Siwan Sadar Within 1 km from Railway Crossing ((78-B)/(T-2))	SIWAN	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1121	towards Maharajganj on Duraundha-Maharajganj Road. Block- Maharajgani	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1122	Shukulawa Khurd on Saran Nahar Main Canal Road (Mouza-Shukulwa Khurd). Block- Thawe Within 1 km from Milestone No: 55 towards	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1123	Raghunathpur on Darauli - Raghunathpur Road (Not on NH/SH). Rlock- Raghunathpur Within 2 km from Milestone No: 2(=Mairawa 2	SIWAN	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
1124	km) towards Mairawa Dham on Mairawa Darauli Main Road, Block- Mairawa	SIWAN	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1125	Within 1 km from Jamapur T-Point towards Khargirampur, Block-Ziradei	SIWAN	Rural	46	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
1126	within 2 km from milestone(=Maharajganj 19 km) towards Maharajganj on Basantpur-Maharajganj Road. Block- Bhagwannur Hatt	SIWAN	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1127	Within 1 km from Milestone No: 2 towards Andar on Andar - Raghunathpur Road, Block- Raghunathpur	SIWAN	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1128	Within 1 km from Ganesh Mathura High School Mora Mairi towards Pateraha (Mouza-Mairidalip)), Block- Bhewannur Hatt	SIWAN	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1129	Within 1 km from Uttakramit Madhya Vidyalaya Barharia towards Jamo Bazar, Block- Barharia	SIWAN	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1130 1131	Ujan, Block- Manigachi Parsauni Kapur, Block- Patahi	Darbhanga CHAMPARAN - EAST	Rural Rural	46 46	SC Open	CFS DC	35 35	35 35	1225 1225	0 12	0 30	Draw of Lots Draw of Lots	5	4
1132	Gangeya, Block- Katra Between KM Stone number 6 and KM Stone	MUZAFFARPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1133	number 4 on Kanti Panapur Road towards Panapur, Block- Marwan Within 1 KM from mile stone (Pateraha = 0 KM)	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1134	towards Basantpur on Paterha - Basantpur Road, Block- Maharaigani	SIWAN	Rural	46	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
1135	Lohiaria, Block- Chanpatia	CHAMPARAN - WEST	Rural	46	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
1136	Within 1 Km from Lalji More towards Mashrauli on Hussenpur- Bhawani Chappra Road, Block- Bhora	GOPALGANJ	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1137	Within 3 Kms from Jalalpur Chowk on Jalalpur- Nagra Road Block- Jalalpur	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1138	Ujjaina on Turki Road, Block- Baheri Dighwa (On Dharambari Dighwa Dubauli Road),	Darbhanga GOPALGANJ	Rural Rural	46 46	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0	30 0	Draw of Lots Draw of Lots	0	2
	Block- Baikunthpur Within 1 KM from Sakhaura Chowk, Block-	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1141	Bandara Within 3kms from Harpur Chowk on Harpur- Berui	Saran	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Road. Block- Banivaour Semri Dumari on Gaunaha Sithhi Road, Block-	CHAMPARAN - WEST	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1143	Gaunaha Gaunaha on Narkatiyaganj - DuMr.i- SiMr.i Road, Block- Gaunaha	CHAMPARAN - WEST	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1144	Sithhi on Gaunuha Sitthi Road, Block- Gaunaha	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1145	Maguraha , Block- Gaunaha Dhanauji on Narkatiyaganj - Thori Road, Block-	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1146	Gaunaha Hamidpur on Hamidpur- Rajapatti Road, Block-	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1147	Hamidpur Within 2 KM from Hayaghat Railway Station towards Jatmalpur on Jatmalpur- Hayaghat Road,	GOPALGANJ Darbhanga	Rural Rural	46	OBC SC	DC CFS	35	35	1225	0	0	Draw of Lots	0	2
	Block- Havaghat Jagdishpur on Jagdishpur- Dumarsan road, Block-													
1149	Jagdishpur Within 2 Km from Sakaddi Bazar T Point on	GOPALGANJ	Rural	46	Open CC 1		35	35	1225	12	30	Draw of Lots	5	3
1150	Sakaddi Bazar- Khaira Road. Block- Jalalpur	Saran	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	5

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category 6	Type of Site*	Minimum Dimer Sq. M.). *	nsion (in M.)/Are	a of the site (in	Finance to be a applicant	rranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
	Within 3 KM from Basdila-Narkatia chowk toward	-	Rural	46		DC /	35	35	1225	12	30	Draw of Late	5	12
1151	Thawe on NH-28 to Thawe Road via Basdila, Block- Thawe	GOPALGANJ	Kurai	40	Open	ьс	33	33	1225	12	30	Draw of Lots	3	4
1152	Within 1 Km Bhuwan Chhapara Bazar Chowk on Chakia - Sahebganj Road., Block- Kalyanpur	CHAMPARAN - EAST	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1153	Within 1 KM from Rajpur Chouk towards Kesharia on Chakia - Kesharia road, Block- Kalyanpur	CHAMPARAN - EAST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1154	Within 2 Km From Rajpur bazar to Kalyanpur Road, Block- Kalvanpur	CHAMPARAN - EAST	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1155	Within 1.5 Km from Bairiya Golambar Chowk on Old Motihari Road, Block- Kanti	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1156	Within 1 km from Narsanda Chowk towards Sirsiva, Block- Kanti	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1157	Within 1 km from Panapur Chowk on Panapur- Bangla Road. Block- Kanti	MUZAFFARPUR	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
1158	Within 1 km from Kanti Block Chowk , Block-Kanti	MUZAFFARPUR	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1159	From Kanti High School to Kanti Purana Bazaar Chowk (On High School Road), Block- Kanti	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1160	Within 1 KM from Khairwa tola more to Sattarghat Block- Kesaria	CHAMPARAN - EAST	Rural	46	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
1161	Inerwa (Within 2 Km from Motipur Railway Station towards Kanti on Kanti Motipur Road, Block- Motipur	MUZAFFARPUR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1162	Shahpur Parsauni on Rampur Mainatand Road, Block- Mainatand	CHAMPARAN - WEST	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
1163	Pipra (Within 1 KM from Binda Chowk, Pipra towards Jabdi on Rampur Mainatand Road), Block- Mainatand	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1164	Ratanmala on Lalgnelh - Sarisawa Road, Block- Manihaulia	CHAMPARAN - WEST	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1165	Within 1Km from Jaukatiya Chowk(on NH28B) towards Jaukatiya Villege, Block- Manjhaulia	CHAMPARAN - WEST	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1166	Within 1 KM from Rasulpur Chowk towards Kanti Block on Rasulpur Chowk - Kanti Road, Block- Motiour	MUZAFFARPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1167	Mahuawa Manjharia (on Narkatiyaganj Sugarmil To Hazari Road), Block- Narkatiyaganj	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 1Km from Pandai Pul towards Mathura Mouza Bhatgama, Block- Rajnagar	CHAMPARAN - WEST Madhubani	Rural Rural		Open OBC	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	3
1170	Within 3 kms from "Ranti Chowk on SH- 52" to	Madhubani	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Within 1 Km from Shivpurwa Chowk towards R Between Salempur Chowk to Vaidhyanathpur (CHAMPARAN - WEST MUZAFFARPUR	Rural Rural		Open Open CC 1	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	
	Within 1 KM from Sahebganj Thana towards Kh		Rural		OBC	DC	35			12		Draw of Lots	5	
1174 1175	Within 1 Km from Siho Railway Crossing (84 C) Khatauri on Done Canal Road, Block-Ramnaga	MUZAFFARPUR CHAMPARAN - WEST	Rural Rural		SC Open	CFS DC	35 35		1225 1225	12		Draw of Lots Draw of Lots	5	
1176	Patukahiya(Within 1 km from Majhar pul chow	CHAMPARAN - WEST	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Within 1 Km from DAV Public School, Maharaja On Road connecting Pahleja Ghat to NH- 19 at	SIWAN Saran	Rural Rural	46 46	Open	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 1Km from Milestone(Fathehpur Chowk	CHAMPARAN - WEST	Rural			CFS	35		1225	0		Draw of Lots	0	2
1180	Within 1 KM from Belwa Dumaria(on NH28B) t	CHAMPARAN - WEST	Rural	46		DC	35		1225	12		Draw of Lots	5	3
1181 1182	Within 1KM from Raibari Mahuawa Zero Mile Within 3 KM from SH-50 towards Simri on Tara	CHAMPARAN - WEST Darbhanga	Rural Rural	46 46	Open Open	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1183	Piparia (Within 1.0 KM from Piparia Canal Chov	CHAMPARAN - WEST	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
1184 1185	Within 4 to 5 KM from Harkhua Sugar mill tow Within 1.0 km from Prathmik Vidayalay, Basao		Rural Rural		OBC Open	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 2 KM from Bishanpur towards Atarbel of		Rural		Open	DC	35		1225	12		Draw of Lots	5	
	Within 1.0 km from Gaighat Devi Asthan towar		Rural		OBC	DC	35			12		Draw of Lots	5	
	Within 1 KM from Utkramit Madhya Vidyalaya Within 1 km from Khangura High School to Kha		Rural Rural		SC Open	CFS DC	35 35		1225 1225	12		Draw of Lots Draw of Lots	5	2
1190	Within 1 Km from Lauriya Narkatiyaganj More	CHAMPARAN - WEST	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	
	Within 1 KM from Saurahan Done Canal Chowl Between Milestone (Lauriya-18) To (Lauriya-17		Rural Rural		OBC SC	DC CFS	35			12		Draw of Lots Draw of Lots	5	3
	Mauza- Jamin Mathia on Kanti Banghara Road,		Rural		Open	DC	35 35		1225 1225	12		Draw of Lots	5	4
1194	Within 1 KM from English Chowk towards Ghiu	CHAMPARAN - EAST	Rural		Open	DC	35	35	1225	12	30	Draw of Lots	5	
	Within 1 Km from Ambedkar Chowk, Ramnaga Within 1 km from Sabaha Chowk towards Saka		Rural Rural		OBC Open	DC DC	35 35		1225 1225	12 12		Draw of Lots Draw of Lots	5	
1197	Between Milestone No 8 & Milestone No: 9 on	SIWAN	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Within 4 km from Utkramit Madhya Vidyalay, F. Within 2 KM from Government Middle School,		Rural Rural		OBC Open CC 1	DC DC	35 35			12 12		Draw of Lots Draw of Lots	5	3
	Within 2.5 KM from Government Middle School, Within 2.5 KM from primary school, Bhadwar o		Rural		Open CC 1	DC	35			12	30	Draw of Lots	5	. 4
1201	Within 2.5 KM from Nainizor Bus Stand (On Na	Buxar	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	
	Within 2.5 KM from Nandan village Panchayat Within 5 KM from Chaugain Block Office towar		Rural Rural		OBC Open	DC DC	35 35			12 12		Draw of Lots Draw of Lots	5	3
1204	Within 5 KM from Ara Eastern Railway Crossing	Bhojpur	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2.5 KM from Itarhi Police Station on Bus Within 2 KM from Barahara Block office on Ara		Rural Rural		SC OBC	CFS DC	35 35		1225 1225	0 12		Draw of Lots Draw of Lots	0	2
	Gheghta (On Ara - Saraiya Road), Block-Ara	Bhojpur Bhojpur	Rural		Open	DC	35		1225	12		Draw of Lots Draw of Lots	5	. 4
	Within 2 KM from Kasturba Gandhi Middle Sch		Rural	48	Open CC 2		35			12		Draw of Lots	5	4
	Within 2.5 KM from Government Middle Schoo Within 2 KMs from Pawna Chowk towards Ara		Rural Rural		OBC CC 1 SC CC 1	DC CFS	35 35		1225 1225	12 0		Draw of Lots Draw of Lots	0	2
1211	Within 3 Km from Dulhin Bazar tiraha towards	Patna	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2 Km from Bank of India, Ajwan towards Between Dewariya Punpun Bridge to Bhagwan		Rural Rural		Open OBC	DC DC	35 35			12 12		Draw of Lots Draw of Lots	5	
1214	Within 2.5 KM From Prathmik Vidyalaya Faridp	JEHANABAD	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Within 2 KM from Tajpur More towards Hulasg Within 3 KM FROM Barahiyakol Hanuman Man		Rural Rural		Open Open	DC DC	35 35			12 12		Draw of Lots Draw of Lots	5	
	Within 3 KM FROM Baraniyakoi Hanuman Man Within 4 KM from Kshatriya High School towar		Rural		OBC	DC	35		1225	12		Draw of Lots Draw of Lots	5	
1218	Within 1.5 km from NPGC main gate no.1 towa	Aurangabad	Rural		Open	DC	35	35		12		Draw of Lots	5	4
	Within 2 km from Rajkiya madhya vidyalya Latt Within 1 km from Middle school Chandaut tow		Rural Rural		SC Open	CFS DC	35 35			12		Draw of Lots Draw of Lots	5	2
1221	Within 3 km from sima towards barpa on Pautl	Aurangabad	Rural	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Bhadwa Bazar (On Rafiganj - Aurangabad Road Pandey Karma (On Kasima - Rafiganj Road), Blo		Rural Rural		Open CC 1 SC	DC CFS	35 35			12		Draw of Lots Draw of Lots	5	2
	Between Dinara block to Belwaiyan chowk on p		Rural		OBC	DC	35			12	30	Draw of Lots	5	
	Jogadih (on tilauthu - ramdihra road), Block- Ti		Rural		Open	DC	35			12		Draw of Lots	5	
1226	Badiladih , Block- Karakat	Rohtas	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimensio Sq. M.). *	on (in M.)/Area	of the site (in	Finance to be an applicant	ranged by the	Mode of Selection	Minimum Bid amount	Security Deposit
1 1227	2 Within 2 km from Dev More (NH2 Junction) tov	Aurangahad	4 Rural	5	6 OBC	DC 7	35	8 35	1225	9a 12	9b	Draw of Lots	11 5	12
	Simwa on rafiganj - Gaya road., Block- Rafigan		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 km from BRBCL Main gate towards Na		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2.5 km from NPGC main gate no. 1 town Dadar (On Dadar - pauthu Road), Block- Goh	Aurangabad Aurangabad	Rural Rural		Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 1 km from NPGC gate no 2 towards Ku		Rural		ST	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 3 Km from Chhabilapur towards Devaria		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1234 1235	Within 3 Km From Thali More Towards Kakolat Devaria (Not On SH), Block- Ben	Nawada Nalanda	Rural Rural	48	Open OBC PH	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 4 Km From Simarkol more towards Dha		Rural		SC PH	CFS	35	35	1225	0		Draw of Lots	0	2
	Kujha (On Nardiganj- Kharat Road), Block- Narc		Rural	48	Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2 Km From Pawapuri more towards Nal Within 4Km From Banganga Towards jethian O		Rural Rural	48	Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 3 Km From Intersection of Saksohra- Bir		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 3 Km From Sahpur More towards Shekh		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 KMs from Chandi Chowk on Chandi-D Within 4 Km From Griyak Siloa More towards N		Rural Rural		Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	within 3 km from madhya vidyalaya lakhaipur(Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 4 km from Ghughritand Chowk towards		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	
	Within 3 kms from kumhar toli dharmshala kal within 2 km from parasi market(On walibad -pa		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	within 2 kms from belkhara bazaar towards ba		Rural		Open CC 1		35	35	1225	12		Draw of Lots	5	4
	within 2km from mali high school,karpi toward		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
1250 1251	within 10 kms from kurkihar garh towards kuju Withn 3 Kms from Nuaon Chowk towards Ram	· /	Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Within 3 KMs from Bagarmore Railway Crossing		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1253	Within 5 Kms from Kudra Railway overbridge o	Kaimur	Rural	48	OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 5 Kms from Kudra Flyover on Kudra-Par Adhaura. Block- Adhaura	Kaimur Kaimur	Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	2
	Within 1Kms on either side of Bhawarah Morh		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1257	Within 5 Kms from Sheosagar T-Point on Sheos	Rohtas	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 5 kms from amratalab Railway Crossing Within 5 Kms from Kudra T-Point on Kudra- Ch		Rural Rural		OBC CC 1 SC CC 1	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
	Mohanpur on Mohanpur- Mukhrao Road, Bloc		Rural	48		DC	35	35	1225	12		Draw of Lots	5	4
1261	Within 5 KMs from Gangi bridge towards Kesho	Bhojpur	Rural	48	OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Kathrai on Kathrai- sirisia Road, Block- Kudra Madurana (on Awakhara- Hatta-Mahdaich Roa	Kaimur	Rural Rural	48	Open SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	4
1264	3 KM from Mount view Hotel On road connecti		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1265	Kusumhara on Dehri - Rajpur Road, Block- Ako		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Manihari , Block- Bhabhua within 3 Kms from GT Road T-Point on GT Road	kaimur	Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Between Beda Nahar and T-Point GT Road (shi		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 1KM on either side of Abdulpur Chowk		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 2km from Garjaul Paharpur Chowk tow Within 2 km from Sanichara Hat towards Belku		Rural Rural		Open Open CC 1	DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 5 KMs from Government Middle School		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 km from bidupur railway station tow		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 2 Km from Matiara chowk towards Bha Within 1 km on either side of Postoffice, Sahde		Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	1km either side of Lakshmanpur Hat on Mahua		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Between Anumandal Hospital, Mahua & Premra		Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	
	Kasturi Sarai(On Kasturi Sarai-Mahua Road), Bl Within 3 Km from Makdumpur tiraha on Makd		Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 2 KM towards kasima from kasima more		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
1281	Within 4 KMs from Sadar Hospital, Jamira on C	Bhojpur	Rural		SC	CFS	35	35	1225	0	0	Draw of Lots	0	
	Within 2 KMs from Tetaria More towards Saha Within 2 KMs from Pramukh Chowk, Koransara		Rural Rural		Open	DC DC	35 35	35 35		12 12		Draw of Lots Draw of Lots	5	4
	Between Bharauli Chowk & Sarna Chowk on Sh		Rural		Open OBC	DC	35	35	1225 1225	12		Draw of Lots	5	3
1285	Within 4 KMs from Krishna Brham Chowk(NH-8	Buxar	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Within 5 KMs from Brahampur Chowrasta tow Within 2.5 KMs from Raghunathpur Railway Cr		Rural	48 48	Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 2.5 KMs from Ragnunathpur Railway Cr Within 2 Km From Intersection of SH 71 & Aps		Rural Rural		Open	DC	35	35	1225	12		Draw of Lots Draw of Lots	5	4
1289	Within 3 Km From Khanwa towards Sirdala (Or	Nawada	Rural	48	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 1 km from Alampur Chowk towards Rai Within 3kms from Agrer T-Point on Agrer-Dum		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	0	2
	Within 2 km from Desari Station towards Chan		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1293	Within 2 km on either side of Adarsh Madhya \	vaishali	Rural	48	Open	DC	35	35	1225	12		Draw of Lots	5	
	Within 1 KM from Naya nagar Village Masjid ga In between KM Stone number 5 & 6 on Sahkun		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	In between KM Stone number 8 & 10 on Jamsi-		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Muradpur Middle School and Aeraut		Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 1KM from Nawada Chowk at Nawada v Within 3 KM from Ladaua more towards Shaku		Rural Rural		OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
	Within 1.5 Killometers from Palsa Chowk towards		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1301	Bairgachhi Mauza (on Dalkola- Kurum Road), B	Purnia	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	
	Within 05 km from Ekchari Trimuhan towards l Within 3 km from Minakshi mandir at Sunder p		Rural Rural		OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
	Between Madhya Vidyalaya, Jeevachhpur & M		Rural		Open	DC	35	35	1225	12		Draw of Lots Draw of Lots	5	4
1305	Between Utkarmit Madhya Vidyalaya, Bhatna 8	Purnia	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 1 kilometers from Dalmalpur Chowk (or Between JBC Nahar Bridge no 186 & Samudayi		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 1 km from Bajrang Temple Gadhtola on		Rural		SC CC 1	CFS	35	35	1225	0		Draw of Lots	0	
1309	Within 3 Km from Garhi Vishunpura More towa	LAKHISARAI	Rural	50	Open CC 2		35	35	1225	12	30	Draw of Lots	5	4
	Within 2 Km from Barauni Block towards Batha Within 4 kilometers from Kali Mandir, Bardela		Rural Rural		OBC CC 1 Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 4km from Pyalapur chowk towards Kah		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	
	Between Ekamba Mini Rice Mill & Shapa Bridge		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Sirsiya, Block- BARHARA KOTHI Within 2 Km from Kabir Ganga Madhya Vidalay	Purnia Madhepura	Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1316	Between Bathnaha Chowk to Prathmik Vidyala	Purnia	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	within 3 to 5 Km from Parsarma chowk toward		Rural		ST	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 Km from Khokshi chowk towards khui Jirwa, Block- Shankarpur	Madhepura Madhepura	Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1320	Within 1 Kilometer from Jagaili Chowk towards	Purnia	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1321	Between Sanhauli Surya Mandir to Amni simar	Khagaria	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimension Sq. M.). *		of the site (in	Finance to be an applicant		Mode of Selection	Minimum Bid amount	Security Deposit
1322	2 Milan Chowk to Mohanpur Bridge on Balia Par	3 Begusarai	4 Rural	5 50	6 Open	DC 7	35	8 35	1225	9a 12	9b 30	Draw of Lots	11 5	12 4
	Within 2 Km from Kainchi Chowk, Teghra towa	_	Rural		Open CC 1		35	35	1225	12		Draw of Lots	5	4
	Within 1 Km on either side of Singhiya Chowk o		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Haripur in Itahri Panchayat (On Jamalpur Go Between Hanuman Mandir Khamhar to Bihar G		Rural Rural		ST Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	4
1327	Between Naradpur Chowk to Chorli Halka Chov		Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Pipra, Block- BANMANKHI Between Dina Chakla Middle School to Pasrah	Purnia	Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Wthin 3 Km from Mehuns More towards Rasu		Rural	50		CFS	35	35	1225	0		Draw of Lots	0	2
1331	Within 1KM from NH 31 towards Vidyarthi Tol		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Ichalo Panchayat Bhawan & Mahmad Between Ambedkar Chowk Pahsara to Mahesh		Rural Rural	50 50	OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 1 km from Belauni More towards mehu		Rural		SC PH	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 km from Barauni Flag railway Station	_	Rural		OBC PH	DC	35	35	1225	12		Draw of Lots Draw of Lots	5	3
	In between Chandrashekhar Chowk to Madhu Within 2 KM from Manjhaul towards Bakhri or		Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1338	Within 2 KM from Jama Masjid Kaunia toward	Khagaria	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Within 3 Km from Teghra Chowk towards Tergl Within 3 km from Rajgaon towards Charne (on		Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Within 3 km from Dhaneshwari Chowk toward:		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Baltara HighSchool to Poura Shiv Ma		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 1 Km from Vidyapeeth Chowk towards Within 4 km from Palasi Market towards Kaliag		Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Within 4 km from Palasi Chowk towards Mada		Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1346	Within 1 km from Pema Chowk towards Paik To		Rural		Open	DC	35	35	1225	12		Draw of Lots Draw of Lots	5	4
	Between Shyam Nagar Chowk and Bathnaha-B Within 2 Km from Kiul Railway Station towards		Rural Rural		OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	0	2
1349	Within 2 Km from Golden Chowk Sheikhpura to	Sheikhpura	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Kishan Chowk and Bankhatta Chowk Within 1 km from Koskipur Chowk towards Kal		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 2 Km from Golden Chowk Sheikhpura to		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 3 Kms from Manjhwe more towards khi		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Ufrail Chowk and Mandal Tola (on Uf Between pokhariya chowk and samukhiya mor		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Between Jitwariya Chandani Chowk and Indira		Rural		Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 3 Km from Patel Chowk towards Sheikh Between Morwaria Bridge and Olipur Chowk o		Rural Rural	50	SC CC 1 OBC CC 1	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	0	2
	Between Malpur Chowk and Chandan Chowk		Rural	50		DC	35	35	1225	12		Draw of Lots	5	4
1360	Within 1 km from Birpur Police Station toward:	Begusarai	Rural		Open PH	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2 Km from Paspura Dhala on Gupta Bar Within 1 km on either side of Primary School, 0	_	Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	2
	Between Vidyapati Railway Crossing and Bajrar		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Naya Tola Sikrahta and Dagmara (on		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 2 Km from Middle school Sahra-Bataura Between Kusaiya Gumti and Nagar Basti Chowl		Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	4
1367	Between Mathurapur Ghat and Hansa Chowk (Samastipur	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Godar Ghat and Galgal Chowk (on Sai		Rural		Open OBC	DC DC	35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Between Shakarpura Gumti and Ganesh Talkie In between KM Stone number 2 & 5 on Bhuria		Rural Rural		SC	CFS	35 35	35	1225	0		Draw of Lots	0	2
	Within 2 Km from Dumaria Bujurg Aguwanai G		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2 KM from Lalji middle school Makanpu Between Mangalgarh Lahsan Pool and Atirikth		Rural Rural		Open CC 1 OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 1 KM from Sant Teresa Mission School,		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2KM from main gate of Public Health Ce		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Hahiya Tola Chowk and Mahuli Chow Mauza Abhuar(On Kishanpur Pipra Road), Bloc		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	In Between Km Stone 3 to Km Stone 4 On Khag		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	In between KM Stone number 10 and 13 on Ek Between Shiv Mandir Choti Kishanpur and Nav		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Within 3 Km from Daulatpur Chowk towards Si		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	
1382	Within 3 Km from Thengapur Chowk towards F	Araria	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2 KM from Anadipur chowk at NH80 (or Betweeen Laxmi Chowk and Middle Schoolo Kl		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	0	2
1385	In between Birbanna chowk on NH 31 and rails	Bhagalpur	Rural		Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 3 KM from Sahabad chowk towards Sah	Bhagalpur	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Maricha Chowk and Malpur Chowk (In between Champa nala mode at Nathnagar a		Rural Rural		OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
1389	Within 2 kilometers from Dena Bank, Akbarpur	Purnia	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 2 kilometers from Ahilgaon Chowk tows		Rural		Open	DC DC	35	35	1225 1225	12 12		Draw of Lots Draw of Lots	5	
	Between Yadavangarlila & Daha Santhal Tola in Within 2 kilometers from Jalalgarh Chowk towa		Rural Rural		OBC SC	CFS	35 35	35 35	1225	0		Draw of Lots Draw of Lots	0	
1393	Between Barhara Kothi Block Office & Barhara	Purnia	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Sunni Noori Jamia Masjid, Chandarga Kalyanpur, Block- Kirtyananad Nagar	Purnia Purnia	Rural Rural		Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 3 to 5 Km from karpoori chowk towards		Rural		Open	DC	35	35 35	1225	12		Draw of Lots Draw of Lots	5	
1397	Within 4 KM from" SH91 and Sarauni Kala Road	Madhepura	Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	
	Wihtin 1 KM from NH 107 and Daroga babu lar Pehlagarh, Block- Kadwa	Madhepura Katihar	Rural Rural		OBC Open CC 1	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	
1400	Farsara, Block- Balrampur	Katihar	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 1 km from Mansahi Chowk towards Jay		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0 5	
	Within 1 Km from Angar Thana Towards Kishar Within 2 km from Dumar Chowk towards Marg		Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3 4
1404	Tahirpur Mouza (From Salmari chowk towards	Katihar	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	From Dhamuah Chowk to Karanpur Chowk, Blo Within 2 Km from Madanpur Bazar Chowk tow		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	3
	Within 2 km from Madanpur Bazar Chowk tow Within 1km from Keshri chowk towards Salmai		Rural		Open	DC	35	35 35	1225	12		Draw of Lots Draw of Lots	5	4
	Kachna, Block- Barsoi	Katihar	Rural				35	35	1225	12		Draw of Lots	5	4
	Pomra, Block- Barsoi Within 1km from Barbitta Chowk towards Sahj	Katihar Katihar	Rural Rural		OBC CC 1 SC CC 1	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
1411	Within 1km from Chowki haat towards Parhliya	Katihar	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Sharifganj chowk and Shiv Parwati Ka		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 3 Km from Lakshmipur Chowk towards Within 2 km from Aabadpur bus stand toward	Araria Katihar	Rural Rural		OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	0	2
1415	Within 2 km from Harnaroi Chowk towards Bar	Katihar	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1416	Within 2 km from Paschimpalli Chowk towards	Kishanganj	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

				Estimated									Fixed Fee /	
SI. No	Name of location	Revenue District	Type of RO	monthly Sales Potential #	Category	Type of Site*	Minimum Dimensi Sq. M.). *		a of the site (in	Finance to be an applicant		Mode of Selection	Minimum Bid amount	Security Deposit
1417	2 Between Teragachh Thana and Phulwari Hat , I	3 Kishanganj	4 Rural	5 50	6 OBC	DC 7	35	8 35	1225	9a 12	9b 30	Draw of Lots	11 5	12
1418	Within 3 km from LRP Chowk towards Kishanga	Kishanganj	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	From Deramaari Chowk to Dhanpura Chowk, B Within 3 km from Motihara Chowk towards Th		Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	0	2
	Tarni, Block- Pothia	Kishanganj	Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Bishanpur, Block- Kochadhaman	Kishanganj	Rural		Open CC 1		35	35		12		Draw of Lots	5	4
	Jiyapokhar, Block- Thakurganj Within 3km from Jalebia more towards Thakur	Kishanganj Kishanganj	Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	3
	Within 3km from Tappu Chowk towards Kanch		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between BSF Camp ,Dhobibhitha and Pathama Bagalbaari, Block- Kochadhaman	Kishanganj Kishanganj	Rural Rural	50 50	Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 1 km from Dighalbank hat towards Moh		Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Sitalpur, Block- Pothia Within 3 km from Damabari chowk towards Be	Kishangani	Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Dighalbank, Block- Dighalbank	Kishanganj	Rural		OBC	DC	35	35		12		Draw of Lots	5	3
	Between Ideal chowk to Saraikudi Haat , Block-		Rural		ST	CFS	35	35		0		Draw of Lots	0	2
	Dahibhaat, Block- Teragachh Within1 km from Rajagawn chowk towards Sa	Kishangani Kishangani	Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1435	Between KM stone 22 and 23 on Pauwakhali-P	Kishanganj	Rural	50	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
	Within 3 km from Taiyyabpur Railway crossing Within 1 km from Bibiganj chowk towards Tuls		Rural Rural		SC PH Open	CFS DC	35 35	35 35	1225 1225	12		Draw of Lots Draw of Lots	5	2
	Within 1 km from Kuch-ha Benugarh chowk to		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Rehmatpara, Block- Kochadhaman	Kishanganj	Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Tupamaari, Block- Kochadhaman Within 1 km from Rampur Bridge towards Jhala	Kishanganj Kishanganj	Rural Rural		Open SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	0	2
1442	Within 1 km from Mehar-ali chowk towards Sa	Kishanganj	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
1443 1444	Babhantoli, Block- Bahadurganj Haaribhitha, Block- Dighalbank	Kishanganj Kishanganj	Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
1445	Within 1 km from Desiyatoli High school towar	Kishanganj	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Between Bhauara Haat to Bhauara Chowk Han		Rural		OBC	DC DC	35 35	35 35	1225	12 12		Draw of Lots	5	3
	Between Jwalapur Chowk to Meghauna High S Between Gandhi Chowk to Kothia Primary Scho		Rural Rural		Open Open CC 1	DC	35	35		12		Draw of Lots Draw of Lots	5	4
1449	ŭ		Rural		OBC	DC	35	35		12		Draw of Lots	5	3
1450 1451	From Wajitpur Bandh to HPC Petrol Pump on Sakrohar Village (On Khurhan Alamnagar Roa		Rural Rural	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	2
1452	Within 1 KM from Uttar Bihar Gramin Bank, Sc	Begusarai	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 3KM from Bachhauta chowk towards Bl Between Jokihat and Matiyari (on Jokihat-Dalm		Rural Rural	50 50	OBC SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	3
1454	Within 2 km from Kanhaili towards Pithora (on		Rural		Open	DC	35	35		12		Draw of Lots	5	4
	Within 3 km on either side of Gareria Chowk (o	_	Rural		Open	DC	35	35		12		Draw of Lots	5	4
	Within 2 km from Madarganj towards Kurwa La Within 2 km from Matiyari Chowk towards Kak		Rural Rural		Open OBC CC 1	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
1459	Between Pachira Madarsa and Madhulata (on	Araria	Rural	50	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	
	Within 2 km from Bungama Chowk towards Ch Within 5 km from Kali Chowk, Kankhudia towa		Rural Rural		Open PH OBC	DC DC	35 35	35 35		12 12		Draw of Lots Draw of Lots	5	4
	Within 2 Kms from Pathghaghar Chowk toward		Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 5 Kms on either direction from pokhariy Withhin 4 Kms from Malaypur-Barhat Chowk to		Rural Rural		SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Within 6 Kms from Ramsaria More towards Bar		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 4 Kms from Sikandra Purani Chowk tow		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
1467 1468	Within 5 Kms from purani chowk on Kharagpur Within 2 Kms from Englishmore towards Bhark		Rural Rural		Open SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	2
1469	Within 2 Kms from Magobandar chowk toward	Jamui	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1470	Within 3 KM from Bithan Block Office, Toward Between Bithan Chowk and Durga Mandi Harip		Rural Rural		Open Open CC 1	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
	Within 4 Km from Gumpti NO -33, Towards Bis		Rural		SC	CFS	35	35		0		Draw of Lots	0	2
	Within 8 Km from Gumti No 32, Towards Tabh Between Dayal Chowk and Gadhsisai Chowk (o		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Between Dayal Chowk and Gadnissal Chowk (or		Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	4
1476	Between Saidpur Budhi Gandak Pool and Kushi	Samastipur	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Within 3 Km from Saidpur Budhi Gandak Pool, Between Middle school Khajuri Chowk and Kal		Rural Rural	50 50	SC Open	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	2
1479	Between Chakmesi Bazar Hanuman Mandir Ch	Samastipur	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Kalyanpur Chowk and Janta Chowk (o Between Birauli Chowk and Tara Chowk (on Bir		Rural Rural		OBC SC	DC CFS	35 35	35 35		12 0		Draw of Lots Draw of Lots	5	3
	Between Dekari Chowk and Angarghat Budhi G		Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Rajkiya Praathmik Vidyalay, Karua and Between Rebra Chowk and Godarghat Chowk (Samastipur	Rural Rural		Open OBC	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3
	Within 1 KM from Hanuman Mandir towards P	Samastipur Samastipur	Rural		SC	CFS	35	35 35		0		Draw of Lots Draw of Lots	0	_
	Within 3 Km from Chaklal Sahi Chowk towards		Rural		Open	DC	35	35	1225	12	30	Draw of Lots	5	
	Wihtin 5 KM from Harpur Bhindi Shiv Mandir, Within 5 Km from Ambedkar Chowk (on Patori	Samastipur Samastipur	Rural Rural		OBC Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	3 4
1489	Between Chandan Chowk and Nandini Chowk	Samastipur	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 3 Km from Dr. Rajendra Prasad Central Between Khudi Ram Bose Railway Crossing and		Rural Rural		SC OBC	CFS DC	35 35	35 35	1225 1225	0 12		Draw of Lots Draw of Lots	5	
	Between Gadhiya Chowk and Dr. Rajendra Pras		Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Within 6 Km from Badi Durga Sthan Chowk tov Between Singhia Chowk to Silouth Durga Sthar		Rural Rural		Open SC	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	
	Between Singnia Chowk to Silouth Durga Sthan Between Imli Chowk and Gadhiya Chowk on (S		Rural		OBC	DC	35	35 35		12		Draw of Lots Draw of Lots	5	
1496	Between Imli Chowk and Subhas Chowk (on Im	Samastipur	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Sonbarsha Chowk and Gangapur Cho Between Samastipur DRM Office and Belari Gu		Rural Rural		Open CC 1 OBC	DC DC	35 35	35 35		12 12		Draw of Lots Draw of Lots	5	3
1499	Between Sarairanjan Bazar Chowk and Subhasi	Samastipur	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	Between Murgiachak Chowk and Bachh Chowk Between Tajpur Gandhi Chowk and Chandauli		Rural Rural		Open Open	DC DC	35 35	35 35	1225 1225	12 12		Draw of Lots Draw of Lots	5	
	Between Satanpur Chowk and Ujiarpur Railway		Rural		ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
	Between Basedia Chowk and Salempur Chowk Between Khoksaha Chowk and Phaphout Budh		Rural Rural		SC Open	CFS DC	35	35 35		0 12		Draw of Lots Draw of Lots	0	2
	Between Knoksana Chowk and Phaphout Budh Between Singhia Ghat Chowk and Bibhutipur B		Rural		Open	DC	35 35	35 35	1225 1225	12		Draw of Lots Draw of Lots	5	4
1506	Between Rampur Budhi Gandak Pool and Naw	Samastipur	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Between Satmalpur Chowk and Warisnagar Ch Between Nakta Chowk and Ilmasnagar Bus Sta		Rural Rural		Open SC CC 1	DC CFS	35 35	35 35	1225 1225	12 0		Draw of Lots Draw of Lots	5	2
1509	Between Sarairanjan Bajar and Jhakra Chowk (Samastipur	Rural	50	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Bhola talkies and Jilebia Mode Mahav Within 2 Km from Warisnagar Thana (on Waris		Rural Rural		OBC CC 1 Open	DC DC	35 35	35 35		12 12		Draw of Lots Draw of Lots	5	
	=			. 50								0. 1013	, ,	, -

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Finance to be arranged by the applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1512	Between Rahtoli Middle School and Sripur Gaa	Samastipur	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	
1513	Within 2 Km from Gandhi Chowk towards Sarai	Samastipur	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
1514	Between Mahavir Chowk and Durga Chowk (on	Samastipur	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
	Between Durga Chowk and Karpuri Chowk (on		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Karpuri Chowk and Pipra Chowk (on S		Rural		OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Between Silouth Durga Sthan Chowk and Lanka		Rural	50		CFS	35	35	1225	0		Draw of Lots	0	2
	Between Rosera Daakbuglaw Chauraha and M		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2 KM from Hasanpur Chini Mill Railway		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Mahdev Sthan Chowk and Haya Ghat		Rural		OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	Bhelwa, Block- Salkhua	Saharsa	Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
1522	Sardiha , Block- Simri Bhaktiyarpur	Saharsa	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	In Maheshkhunt Borna road at Borna , Block- N		Rural		Open CC 1	DC	35	35	1225	12		Draw of Lots	5	4
	Bhutoli Malpa, Block- Gogari	Khagaria	Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	In Khagaria-Bakhri Route at Kashimpur, Block-	Khagaria	Rural	50		CFS	35	35	1225	0		Draw of Lots	0	
	Within 1Km from Kiranpurmor towards Kaswal		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 1 KM from Primary school Korchakka Bh		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Rampur kodakatti. Block- Araria	Araria	Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Majhuwa, Block- Raniganj	Araria	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Ramnagar, Block-Thakurgani	Kishanganj	Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Lakhminia, 1Km away from Railway crossing to		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2 kms from Vishunudham Samas chowk		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 3 KM from Bounsi chowk towards Shaki		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
		Banka	Rural		SC PH	CFS	35	35	1225	0		Draw of Lots	0	2
	Nirpur, 1Km on either side of Primary Health Co		Rural		OBC PH	DC	35	35	1225	12		Draw of Lots	5	3
	Champawati, Block- Dhamdaha	Purnia	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
		Khagaria	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 2Km from Hanuman Mandir , Shergarh	.0.	Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 1 Km either side of Rajkiykrit Middle Sch		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 KMs from Hasanpur Sugar Mill chowk		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Sonmankhi Ghat to Bholababa Temple on Khai		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 3 KM from Ranipatra Chowk towards M		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Nawabganj, Block- Narpatganj	Araria	Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 2 Km from Budhanagar Chowk, Parbatta		Rural		Open	DC	35	35	1225	12	-	Draw of Lots	5	4
	Within 2 Km from Pashchim Tola Shadpur towa		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 1KM from Odsamore on Asargani-Englis	_	Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 3 kms from Nimi More towards Lodhipu		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 2 kms from Khalilchak towards nimikho		Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	
	Within 2KM from Tetiya Bambar block office to		Rural		Open CC 1		35	35	1225	12		Draw of Lots	5	4
	Between Kali Chowk, Maa Durga Mandir and A		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
	Within 3 KM from Sahpur Patori Station towar		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Between Dekari Chowk and Satmalpur Chowk (Rural		SC	CFS	35	35	1225	0		Draw of Lots	0	2
	Within 1 Km towards Manjaura from Intersecti		Rural		Open	DC	35	35	1225	12		Draw of Lots	5	4
	Within 5 Km from Thakurgani Thana towards K		Rural		OBC	DC	35	35	1225	12		Draw of Lots	5	3
1334				. 50			, 33	33			, 30			